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(i)

Data Sufficiency
Semod SRDs

Note: In questions numbered 1 to 20. a question is followed by data in the form

of two statements labeled as I and II.  You must decide whether the darta
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following

guidelines:

{a) Mark choice (1) if the statement 1 alone 1s sufficient to answer the
question.

(b)  Mark choice (2) if the statement TI alone is sufficient to answer the
question.

(c)  Mark choice (3) if both the statements I and IT are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

BrSG 1 Sood 20 H85% @l 5 158 1535 2l 159, o (Bod LT ed hen fo Bodk

|mddaren S@FoTen mdjnFon. wd)d S@oTd)) Sod@rfod, odjd
Badaren 15415 Hdrgrad; afdjodhih doiilen edErdy So @l b
AT Bocre). & AT Ewio (108 0488 Hrioren SLHEBPAoD (1) dod (4 S885
8 sond sawd Jodl Fdbod.

(a) 135483 %0 Hdrgrdo a0 HS8d0 1 SMa S Soshdond D marm (1)
H8odod.

(b} 15415 Hdrerdo adjodhb Hdddo I SMah Sozadond b zow (2)
T Hbodod.

(e} 1Sd1% Sd&rerdo addiodms HadSaen LI 105 Soibdon esodhd D
w¥ el Srgr Hor g0 TEISrE moren (3)  HOodod.

(d) 54315 Sd&rerdo adjodhh Hddaen LI 505 Sroe ST o T8 eadd
APodo eidhdlond H o @) r HBodod .

p and g are positive integers. What is the number of positive divisors of

p?

P oo § e O YPEOTD. [ A, 5 IRETe oL 08T

IT.

p:qlﬁ

q 15 a prime number,

(| W8 B Hosy,
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(1)

Data Sufficiency
Bapod HoyHe

Note: In questions numbered 1 to 20. a question 1s followed by data 1 the form
of two statements labeled as 1 and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following

gmdelnes:

(a)  Mark choice (1) if the statement I alone 15 sufficient to answer the
question,

(by  Mark choice (2) if the statement II alone 15 sufficient to answer the
question.

(c)  Mark choice (3) if both the statements T and IT are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not

sufficient to answer the question and additional data 1s required.

f S 1 1 Avod 20 HE5 9l (Hel Lﬁ%;éﬂ'ﬁa 2.8 (dy, o) (Bod LI esf) Moloen Hex Bodo
Biddaren d@oTen adgjo@ron, ad)d SBoF) eLHErPAod, 935
hadSaren (D35 Hdrgrard) afjodhi Sogaren ederdr Jo =d b
AT 8owre), & AT GmE (fod JrdadE Sr(eren SIHG3rA0D (1) dod (4) S5
28 mond aaaed JohE Fdbod.

(a) 1543 % Hdrprdo atdioth® (HAS50 1304 Sophhond & aaran (1)
Hh8odoh.

(b) (D418 Hdrrio adjochi (D555 1 3MaEh Soia%and D aaan (2)
m H8odod.

(€) [H¥18% adrerdo adijochd HSdaren LO 505 Sovihdon modhd D
wied Sror Lo gno o iird@ aaen (3) e hlodod,

(d) 15415 Hdrgrde adijodhb |Sddacen LI 205 Sror So oo ol eaddS
S8 0do emAHhSSond Db 2o 20 (@) m wlodod.

If p and g are positive integers whose product 1s 72. then what 1s the value

of p+gq?

»é oy 72 edipbipm p Boain | e 56 apEgosen Bond, ol U T g

Deod wod?
K pPeq
II.

p-g=1
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(i)

Data Sufficiency

BeRod Do

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and I[I. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
(uestion.

(b)  Mark choice (2) if the statement 11 alone 15 sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) 1f both the statements I and II together are not
sutficient to answer the question and additional data 1s required.

AP : 1 dnod 20 SEE @l ) 1356 [;:E;é*rﬁa 8 15%, o (Fod LI &) Hdven fo Bodh

Padaren SBPoTen adgoa@Fon. @) S'roTd) Ssadriod, @djd
SBdSaren % Hdrorad) adiodkhdh STiTren ederdr Po el b
DT Boore). & AT Emd (2od Ap0AE;E Ar(eren GLEPHoD (1) o (4) S8
28 ewond adarand Jo0DhE Jabod,

(a) 1534250 HArErGo adjofh i (Baddo I Srath Sozddond b =am (1)
MWBodob.

(b) (D45 HIrgrdo adjodh (D3G50 I Sraih dogedond D o (2)
m f8odod.

(c) 19415 Ddrgrdo afjo® [BSGaren LI $05 Sopdlon wolhs D
el 03 Boror Sorgno o Erd saan (3)  HBodiod,

(d) (0435 Hdrerdo adjodkh |SSSaren LI X605 Sror Sog2o 78 eadAd
S8 0io midnhdMond S 2oz () m Hlodod .

If n and m are integers. 1s n>m?

il Seaio mﬁ]ﬂcgnslmmﬁ‘ =i ageoe?

1.
IL

Options:
1. %1

3n+2m=11

n—m=l1



o V2
3 % 3
4. % 4
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(i)

Data Sufficiency

BeRod Do

Note: In questions numbered 1 to 20. a question 15 followed by data i the form

of two statements labeled as T and I1. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement [ alone 1s sufficient to answer the
question,

(b}  Mark choice (2) if the statement II alone 1s sufficient to answer the
question,

(¢) Mark choice (3) if both the statements I and IT are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) 1if both the statements 1 and Il together are not
sufficient to answer the question and additional data 1s required.

Ar S 1o 20 S8 5 =) 3 (el [_;.'ﬁ;é‘rﬁa 28 |0d), ord (BEod LI e d) fbdoew fex Dodn

[Badaren dBPosen adja@Fon. aflyd S8ord) Sodrfod, wlid
Iadaren D15 Hdregrard) adiodh Soien ederdr o el b
AT Boord). &% AT 8o (Fod ArdAEE AriEren abhdrAod (1) Sod (4) S5
28 wmond aaznd Jo0hE Jchod.

(a) |Hd3% Hdrprdo adjof b |BdSdo 1 Smah Sogddond b =ae (1)
h8odad.

(b) (H¥3%0 Hdrgrdo afdjodhHh H5050 T Smsdh Sopilond b saoew (2)
m fhlodod.

(c) 1H31% Hdrerdo adiodbh (Bddaren LI 303 Sdoghdhon smohs D
24383 Sror Do guo Erd 2o (3) m Hlodod.

(d) D15 HSrgrdo e ol (SSdaren LI 05 Srar Sorglo o eaddd
SBodo edHdSond Do aaran (4) r Hlododk .

Is the positive integer » divisible by 357
i1 8% dpRossy 35 JF prloduthebom?

L

IL

15 divides n.

e 15 zelinob,

28 divides n.

11 0 28 gelisyon.
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(i)

Data Sufficiency

Beod Do

Note: In questions numbered 1 to 20. a question 15 followed by data in the form

of two statements labeled as I and I1. You must decide whether the data
aiven i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines;

(a) Mark choice (1) if the statement I alone 15 sufficient to answer the
question.

(b}  Mark choice (2) if the statement II alone 1s sufficient to answer the
question,

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) 1if both the statements 1 and Il together are not
sufficient to answer the question and additional data is required,

BmSd 1 S0d 20 SE55 ad 3 (S8 1548 W 2.8 158, ord (2od L ed Hdhens fe Bod

[Dadaren dBPosen adja@Fon. alyd S8ord) SLHd@rlod), =i
Saddaren B35 SHdrorard) adjodhb Sriaren ederddr Jor el D
AT Boord). &% AT 8mi (2od ArdAS i Ar(Eren asdlriod) (1) Aod (4) SE%
8 mond 2o znd JohE Jchod.

(a) |54 % S&rprdo atl o Bdddo 1 &mah Soihdond b zoe (1)
hBodob.

(b) (D435 Hirgrdo adjodhHh (H5050 T SmsD Sozilond D aaew (2)
m hbodod.

(c) 1HE1% Hidrgrdo afijodhdh Sidaen LI 503 dosddon modhd D
2.7 63 Spor Lo soo sE0rd 2o (3) m HBodod.

(d) D415 Hdrgrdo adyodhi BSdSaren LI 50 Sror Sogeo o 555
S8 oo idhESond D 2o @) Hlodod .

What is the value of sing& -+ cosg?

sifl & + C0s F Ang, Dend Hod?
I ‘51']1”5’=1

- =

I1. cosec@+sec@=5
Options:
1. %1

o ® oo



2. ¥ 3
4. % 4
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(i)

Data Sufficiency

BeRod Do

Note: In questions numbered 1 to 20. a question 15 followed by data in the form

of two statements labeled as L and I1. You must decide whether the data
aiven i the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines;

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the
question,

(b}  Mark choice (2) if the statement II alone 1s sufficient to answer the
question,

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) 1if both the statements 1 and Il together are not
sufficient to answer the question and additional data is required.

APt 1 Mod 20 S5 @D S |5 [;:-i';_é‘rﬁa 2.8 15%), od (Bod LI &) Hrdoen He Bodh

[madaren dBPosen adja@Fon. aflyd S8Pord) Sadrfod, @i
ISadaren D15 Hdregrard) adjodhl STgren ederdr Jo el b
AT Boore). &% DT 8mih (2od ArSAEE Ar(Eren aLH&rAo) (1) Sod (4) S5
8 mond 2aznd JohE Jchod.

(a) |54 % Sdrgrdo atd o BSdd0 1 Smah Soihdond b zae (1)
Bodab.

(b) (D435 Hdrgrdo adjodhHh H5050 T Smsdh Sopilond o aaew (2)
m Hlodod.

(c) 1HE1% HIdrgrdo atfiodhdh Sidaen LI 503 dosddon modhd D
2.y 63 Spor Lo soo sE0rd 2oz (3) m HBodod.

[d) 15435 Hdrgrdo adyodhi BSSaren LI 50 Srmr SogRo o 555
“@odo eSHisond D aaraw (4) r Hlodod .

In the mangle POR. what 15 the length of the side OR?

azbzo POR &, gvadin OF Gws, s ood?

L
I1.

Options:
1. % 1

PO=8cm PR=35cm
Area of the triangle POR = 10 sqg.cn.

POR agozo Gws,devexo = 10 Sdodin.



o %2
3 % 3
4. v 4
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()

Data Sufficiency

BERo¥ HoRHS

Note: In questions numbered 1 to 20, a question i1s followed by data in the form

of two statements labeled as I and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Usmg the
data make an appropriate choice from (1) to (4) as per the following
guidelings:

(a) Mark choice (1) if the statement I alone i1s sufficient to answer the
question.

(by  Mark choice (2) if the statement 11 alone 1s sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

B 1 od 20 385 afl s 158 1598 o 1591, 0 (Bod LT el Hlven Ko Bodh

madiaren d@PoTen @mdfa@on. adyo S8R0l SLad@Piod, adyd
ddaren Hi1% Hdrgrard; adjothd Soaren aderdl So ed
AT Boire), & AT Emb (Hod 055 E Ar(oren SHEPAOD (1) Jod (4) 88
2B o o Jodl Sdbob.

(a) 133435 HArErao adyodhd Hadao I SMA dogadond 21 ey (1)
lodos.

(b) 1543% HSrrdo afyjoch HiGS0 I S5rER SosRbhond D zaw (2)
m H8odob.

(e} D935 Hdrgrdo adjodhd Diddaren LI 50D Sughdon wodhd D
e.H2e3 Brge HUrgwo TES@ aara (3)  Mlodod,

(d) 12¥1% Hdrordo adijodhd (Sddaren LI 205 Sroe Susoo 58 wddD
SHBPOI0 eSHEMRond o 2o (4) i HBodod.

How much 1s the loss percent?

o Hod?

L

Options:
1. %1

The loss is 2025 of the selling price.
o5 dod o 20%.
The cost price 1s Rs, 250,

&9, B 6w, 250,



o %2
. v 3
4. % 4
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(1)

Data Sufficiency
Gepo¥ Joushe

Note: In questons mumbered 1 to 20, a question 15 followed by data i the form

of two statements labeled as Tand II.  You mmst decide whether the data
given in the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement T alone is sufficient to answer the
question.

(b}  Mark choice (2) if the statement II alone 1s sufficient to answer the
(uestion.

(¢} Mark choice (3) if both the statements I and IT are sufficient o
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

Bt 1 1 Aoodd 20 B85 @ 35 (58 (5416 a8 1H¥1. oD (Bod LT ed HhSen fo Bodh

motaren GBFoTen Qdsn@on. @i dBFoTd)) Sadrfod, oo
HdSaren 015 HSrEgraD) sd0th STt aderdr So el ik
DT Boord). & AT Em5 (208 Sr0SE 8 SMEren aSSPAOD (1) Sod (4) S55%
Wb mond aarend Johld Scbhod.

(a) 1% 50 Hdrgrdo a@jodhi (B3G50 T8mSH Sosalond o saew (1) m
fBodiod,

(b) |H¥380 HSrgrdo atdijohd B850 I Srdd Sopdlond D o @)
m adodod.

(e) 1H¥1% Hdrerdo adijothd HiSaren I 50 Hopddon wmodhd D
a3 80 S Sorpno @ maren (3) e BBodod,

(d) |H¥350 Hdrgrdo a@jochis |Sddaren LI 505 Sror Sogoo o edSd
S8 0io eddEdond b 2aew () HBodod.

If 17 1s an integer and 10 < » < 100, then what is 17

1 w8 geRoso dacdy 10 < 11 < 100 sand, oyt 11 od?

1L

The sum of the digits i » 15 12.

1 990 ©oBe Avdhn 1 2.

One digit m » 1s 3 times the other.

11 690 25 @03, BodHeenS 3 Béy.
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(i) Data Sufficiency
Serod HoaHs

Note: In questions numbered 1 to 20, a question is followed by data in the form
of two statements labeled as T and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b)  Mark choice (2) if the statement II alone 1s sufficient 1o answer the
question.

(¢} Mark choice (3) if both the statements I and II are sufficient o
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) 1if both the statements 1 and II together are not
sufficient to answer the question and additional data 1s required.

Bt s 1 oo 20 36% @b 158 1596 wf (D), ord (#od LT ed Hhen de Bodh
medaren dfFoTen sosa@on. afad S8ord)) Sodliriof), adiyo
ddmren Bi3% Sdrprad; adiodhh Soiires adeedE So ed b
AT Boord), £ ATEmE (Fod ArDAEE Arjoren aHEPrA0D (1) dob (4) SS%
M8 Bmond a2 Jobd Sabod.

(a) 123380 Dargrdo ad ok HASS01 IS dogddond D aaran (1)
AxBodods.

(b) (Hd3H Hérerdo adjodhd 1H5050 T 3mSR dogbdbhand D eaaw (2)
- faBodod.

(e) 1H¥35 Ddrgrdo adijos Hiddares LI £OB Hogdkon ok O
2.4 61 Spge SHorgio TEr@ moren (3) T Hbodod.

d) [BE1% hdrgrdo adiodh Bddaren LI 25 Sror Sdopao ¥ edS
S oio wlHhi&ond D o (4) m HBodod .

For two sets 4 and B. what 15 n(A~8)?

Both Hivdben 4 dvocin 5 e, 1(45) aod?

s A =10and m(B-4)=9,
A= 10 &ecio n(8—-A4)=09.

. nA=B)=7. n(B—A) =9 and n(AUB) = 19.
n(4A-B)=7. n(B-A4) =9 secww n(.{B) = 19,
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1.%1
2 2
3. %3
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(i)

Data Sufficiency

ol Doyhs

Note: In questions numbered 1 to 20. a question 15 followed by data in the form
of two statements labeled as I and II.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following

guidelines:

(a) Mark choice (1) if the statement I alone is sufficient to answer the
question.

(b} Mark choice (2) if the statement I1 alone is sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and IT are sufficient to
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) if both the statements I and II together are not

sufficient to answer the question and additional data 1s required.

A s 1 ood 20 S65 a3 158 159,57 af 15¥,. o (Bod LI ead hoen e Bodh
lwadares SBFoTen adsan@ron. =dis S8oTN) Sad@rfod, @d)d
|SSSaren DA% Hdrprard) aljoh i Sogaren aderdlr Sor ed b
AT Boore). & AT Sm (Hod Sp044E Ariaren S5E@PAoD (1) ood 4) 85
8 wmond aaed Jobhi Hdbod.

{al 12415 Hdrgrdo afjodh i |BAG50 1 ArSH Sodlond D saa (1) m

fBlod5ob.

(b) 15¥15% Hdrordo a0k (Ba080 1 S0AD Sogadond D aaen (2)

- Bodob.

(e) 1H¥1% Sdrgrdo adyodhdHh Bidaes LI 503 Sviadon @odhd D

a.8163 g Soepao i@ aaen (2) e HBodod,

(d) ¥ 18 HSrgrdo adyodhi (Sddaren LI 80 Sror SogRo of edSd

&4BPodo eadHhidond 2o 2aen (4) m Hlodod .

What percent of 16 is x?
16 Gank, 006 e T OHe0on?

1L

200 percent of x 1s less than 1.

¥ Gs, 200 mdo | Sob %8,

¥ is 5 percent of 10,

10 g, 5 wedo ¥,
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(1)

Data Sufficiency
BERod Doy

Note: In questions numbered 1 to 20, a question 1s followed by data in the form

of two statements labeled as L and 1.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelings:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b  Mark choice (2) if the statement 1T alone 1s sufficient to answer the
question,

(c}) Mark choice (3) if both the statements I and IT are sufficient to
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) if both the statements I and IT together are not
sufficient to answer the question and additional data is required.

ArdS 1506 20 385 @b 35 158 154, 6% w154, o0 (Bod LIl thiven e Bodh

wddaren ABFoTen adjoalfon. @) S8} aa@eiod, adyd
Hadaren (B35 SHdroran; adjod Soiiren ederdr Ho ead itk
AT 8oore), & AT 8wk (Hod Jria8E drjeren L30T (1) dod (4) 8%
HB o marand Jobhl Fdbob.

(a) (D¥1% Hargrdo a@yoch® (DSSS0 T SMaH Sosddond 2 adaran (1) m
Aalodod.

(b) 1543 % H&rprdo adjochd Haddo I SMSR SosRdond D zaww (2)
e BBodod.

(e) 15935 AHdrgrdo adjodht Diddares LI 305 SosdHdon @modhd D
ok 68 Sror Do gho TENE aaran (3) m HBodobk.

(d) DF1% HSrerdo aBjodd Dddaren LI E05 Srar Sosdo 5 edddy
SBPoF0 5D 0Rond o o @) m HBodod .

What is the value of x* — 127

x2—3" G0, Densd ood?

1.

IL.

Options:
1.¥1

o ® oo

(x—2018)* + (+2019)*=0

(x+2018)* — (1-2019)=0



3. %3
4. % 4
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(i)

Data Sufficiency

BeRod Do

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the
question.

(b)  Mark chowce (2) 1if the statement II alone 1s sufficient to answer the
question,

(¢c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

AP s 1 dnod 20 SEH @l 3 158 [;ﬁ,;ﬁs:ﬁ} 28 1H%, o (Bod LI e Hven fo Bodh

Pddaren HBoTen adgfo@Fon. @i SEroTR) S2drfod). @b
HdSaren Hdy % Hdrorard) adjodhh Sogiren aderdr Ho ol
DT 8oore). & AT Em5 (208 SrddadE dr(oren $L83PA0D (1) od (4) S
8 ssand sz dobhi Fobod.

(a) 192315 HArErdo adioth BAGdo I ST Sopddond b aaw (1) T
h8odod.

(b) |5d3% Sdrerdo adj0dh% (HS5ES0 1 SradRh dogadhond b sam (2)
m bodob.

(e} DE150 Hadrgrdo adiodhd BSdaren LI #03 Sogddion wodhds D
28103 Borgr Sopno EE8 saan (3)  HBodod,

(d) |35 Hdrpordo adjodhsh |Bddaren LI X605 Sror SogRo ¥ eaddd
S8od0 @S5 8&ond b 2oz (4) 7 HBodod.

What is the value of x?

T Cowd, Dl ood?

L
II.

Options:
1.¥1

o ® oo

3% = (mod 10)

0< x <9



3. %3
4. % 4
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(i)  Data Sufficiency
Begod Hoyde

Note: In questions numbered 1 to 20, a question is followed by data in the form
of two statements labeled as I and II. You must decide whether the data

given m the statements are sufficient to answer the questions. Using the

data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the

question.

(b)  Mark choice (2) if the statement II alone 1s sufficient to answer the
question.

(c) Mark choice (3) if both the statements I and II are sufficient to

answer the question but neither statements alone 15 sufficient.
(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data 1s required.

APGS 1 B0d 20 535 33 158 1585 % 28 (54, o) (20d LI ed Hidhen fo Sodh
|Bddaren d@oTen adga@Fon. miid SBPoTR) GodlPfod, =)0
Sddiaren D15 SHSrerad) afiofhi dosen mderdr Sor ed
DT 8ore), & HTERH (Fod Sr0adE Arieren LMD (1) Aod (4) 65
a8 emond mara s Jodh Hobod.

fa) 318 Hdrerdo @@jod i (Daddo T ardah Sogdlond tb mare (1)
Hiodiod,

(b) 15431 % Hdrgrdo adjodhd BSddSo I 3MEd Sos2fond b aaan (2)
m fhbodob.

{e) D15 Sdrgrdo afjodhd |PDadare LT #0035 dogddon @0 D
2.5 8% 8o o sno TErd 2o (3) T o dob.

(d) (533 % Hdrordo atiothdh Bl LI 5D Srar Hogeo 5 eaddl
SB0F0 e0Sh8Sond D saran (4) m HBoSod .

Will £ take more than 9 hours to complete the job alone?

@ HO0 LEH po Icbmns B S 9 robesod oty SBloirme?

I. A works faster than B.
B %08 A4 drom H0 danti,

II. A4 and B can together finish the job in 6 hours.
A fSoocin B e 500 o 500 6 dobed gpe dabded,
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(i) Data Sufficiency
BeRod Do

Note: In questions numbered 1 to 20. a question 1s followed by data in the form
of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropnate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement 1 alone 1s sufficient to answer the
(uestion.

(b)  Mark choice (2) if the statement 11 alone 15 sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sutficient to answer the question and additional data 1s required.

AP : 1 o 20 SEB) @l 3 158 [;ﬁ;_t'isrﬁa 8 1H%, oD (Eod LI &) Hven He Bodh
Padaren dBPoTen adio@Fon. ad)d S'roTd) Sddrfod). @l
SBdSaren H4% Hdrorad) adodkhdh STiTen ederdr Ho el b
DT Boore). & AT Emb (Fod 0S5 ;8 Ar(eren GLHEPHOD (1) o (4) &%
28 wmond aarand donE Jaobhod,

(a) 1554250 HErErGo aEjof b (BS050 1 Srath Sopddond b =am (1)
oo,

(b) |D¥3% SH3rgrdo afjodhh (4550 1 Spdh Sogadond D 2o (2)
m fB8odod.

(e} (w4185 Darprdo a@jodhd |Dodaren LI £ DHogadon wodhd D
28103 Borgr Sorpno @ saan (3) r HBodod,

(d) |43 % Hd&rordo ad ok |SSSaren LI 0D Sror Sog2o 78 eadAd)
&BPodo mSHhSMond b 2o (4) 7 Hlodod.

What is the area of the rhombus?

© DRy SR 2o8?
L. Each of 1ts sides 15 120 cm.
oD ok, 36 P2 120 Do fo.
1L Each of its opposite angles are 60°.

0 Gl ot HEBCt Bagoes 2.4¢5"Eed 607
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(1)

Data Sufficiency

Sagod Sope

Note: In questions numbered 1 to 20, a question is followed by data in the form

of two statements labeled as L and II.  You must decide whether the data
oiven in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) 1if the statement I alone 15 sufficient to answer the
question.

(b) Mark choice (2) if the statement IT alone 1s sufficient to answer the
question.

(¢} Mark choice (3) if both the statements I and II are sufficient to
answer the question but netther statements alone 15 sufticient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

ArG5 1 Ffood 20 555 @D 3 158 158, 8% 28 158, ord @od LT ed H&en o Bod

hdSaren d@roven adgang@Fon. 90 S@FoTR) adTrAod), =dyd
laadaren 2435 Ldrerad; adjodhb Sugiren ederdr do ed ok
DT Bore), & AT EmS (Eod Sp0SSE dr(aren SSEMA0D (1) Aod (4) S5
a8 mond Earandn J0hE Dabod,

{a) 15% 35 HAPEESo @@ joch i D3 550 T3MER Sogadond b saran (1) m
Mlodod,

(b) 5935 Harerio ad ok (HS5050 T SmSd Soiadond b aaw (2)
T fdodod.

(¢} 19¥1% Hd&rordo afjohd Didaren LT 05 Sogdhdhon modhd D
25361 ror So o TErd maaw (3) m hBodod.

(d) 15415 Hdrgrdo adjokhh Dadaren LI 505 Sror Hogao mE eddd
G%0dc edhtond b agae 4) m hiodod .

In the figure given below. what 15 the value of ¢+ f+y+6 7

B3 DS adt dbodB, o + [+ ¥+ 5 Cwk, Dews aod?

[

1L

e 0 ¢ ¥

a+f=y+d
6'1—.;{;:9{:?
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(i)

Data Sufficiency
Beod Doy

Note: In questions nmumbered 1 to 20, a question 15 followed by data 1n the form

of two statements labeled as Iand I1.  You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropnate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement I alone 15 sufficient to answer the
question.

(b)  Mark choice (2) if the statement IT alone 1s sufficient to answer the
question.

(¢} Maik choice (3) if both the statements I and Il are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements T and IT together are not
sufficient to answer the question and additional data i1s required.

RS 1 508 20 $85 a0 yd 158 1545 2.8 D%, od (Bod LI ed Hen de Bodh

medaren SPosen @ofa@on. wilje SPord; S38PAod), @iy
S dSaren B % HSrraa; o5 Sorjares aderds So ed o
AT Boore), thATEn (fod JedddE Ar(Eren SLHEPA0D (1) wod (4) S55
20 @mond 2o JohE Tobob.

(a) 19415 Sdrerdo aF 0t 155550 TAmED Sopadond o e (1)
8ododb.

(b) 1543 % Hirgrdo a0 HASS0 I SrEd Sogadhond D aaw (2)
i fhBodhod.

(€} H¥1% Hdrerdo atfiodhh Bddaes LI 505 Svibdon esothd O
28363 Spor Sor oo TIPS s (3) m HBododk.

(d) D435 HSrprdo adjodmb Hidara 1 EDD Srar SHosdo rf @85
ABPodo el Hh8Sond b 2o e (4) r Abodod .

What 1s the day of the week was 315t December of that yvear?

uwﬁm 31 S35 moodt H Bz sonol?

1L

In that vear the first of March was Monday.
@ HodE.to Hme 2803 IO Aifando,
That year was a leap vear.,

© Hods,Bo 28 b dods vo.
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{i) Data Sufficiency
BeRod SoyDe

Note: In quesnons numbered 1 to 20, a question 15 followed by darta in the form
of two statements labeled as I and II.  You must decide whether the data
oiven in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
omdelines:

(a)  Mark choice (1) if the statement I alone is sufficient to answer the
question.

(by  Mark choice (2) if the statement IT alone is sufficient to answer the
question.

{c) Mark choice (3) if both the statements | and II are sufficient to
answer the question but neither statements alone is sufficient.

(d) Mark choice (4) if both the statements I and Il together are not
sufficient to answer the question and additonal data 1s required.

Br 1 Mod 20 S8%5 oS HS 1516 o8 157, o0 (ol LI ad Hhden Ko Bodk
HdSaren SEoFen adga@Fon. ad)d dBoIv)) &Ldrlod, w=dyd
[ddaren (0435 Ddrprad); e jodhi JoTes alwdr dor = b
DT Boare). & AT Embs (Bod SpdA5E Srioren I8P (1) Sod (4) S55
B smond &sazoon ool Fcbhod.

(a) 1543 % Hdrordo afjodhi |D50550 13maE R Sogdlond b maran (1) e
Bl ododh.

(b) [543 % HSrerdo adjodhd (HA050 I Srah Sopadond b mao (2)
i hBodod.

fc} 15415 Sdrgrdo afiodkh® SHidares LN 505 Sogadbon wodhd D
28363 Brgr Do geo sErd saren (3) m Hdodiob.

() D435 Adrerdo e ok B45aen L 365 Srar Sogdo vE edAG
S®oio edHhddond D mara @) m hlodod .

A, B, C. D and E are sitting around a circular table facing the centre.

Who is sitting to the immediate leftof C 7

A, B, C, D soods E e 28 oo dhas g <Hhp Sompefumor® 560 das,0.
C & 30 Bobd 25503y SrE0 &80 o507

L Only A4 15 between F and B.
E #oocin B o #oge® 1 dngd ém .

[I.  D1s to the immediate left of 5.
B & 3iodobd ot S0 D st
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(i)

Data Sufficiency
Semod SRDs

Note: In questions numbered 1 to 20. a question is followed by data in the form

of two statements labeled as I and II.  You must decide whether the darta
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following

guidelines:

(a) Mark choice (1) if the statement 1 alone 1s sufficient to answer the
question.

(b)  Mark choice (2) if the statement TI alone is sufficient to answer the
question.

(c)  Mark choice (3) if both the statements I and IT are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

BrSG 1 Sood 20 H85% @l 5 158 1535 2l 159, o (Bod LT ed hen fo Bodk

|mddaren S@FoTen mdjnFon. wd)d S@oTd)) Sod@rfod, odjd
Badaren 15415 Hdrgrad; afdjodhih doiilen edErdy So @l b
AT Bocre). & AT Ewio (108 0488 Hrioren SLHEBPAoD (1) dod (4 S885
8 sond sawd Jodl Fdbod.

(a) 135483 %0 Hdrgrdo a0 HS8d0 1 SMa S Soshdond D marm (1)
H8odod.

(b} 15415 Hdrerdo adjodhb Hdddo I SMah Sozadond b zow (2)
T Hbodod.

(e} 1Sd1% Sd&rerdo addiodms HadSaen LI 105 Soibdon esodhd D
w¥ el Srgr Hor g0 TEISrE moren (3)  HOodod.

(d) 54315 Sd&rerdo adjodhh Hddaen LI 505 Sroe ST o T8 eadd
APodo eidhdlond H o (@) r HBodod .

What is the area of the sector 4 of the circle?

@ Sefo s, pEL 4 dins, fesero dod?

II.

The sector .4 makes an angle 60° at the centre.

e 5w 4. Sogo 5g 60 Shmo JSon.

Length of the arc of the sector 4 is 110/21cm.

edgn 4 Ao aedodusy) 1 10/2] Tho. al.
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(i)  Data Sufficiency
GERod Do

Neote: In questions numbered 1 to 20, a question is followed by data in the form
of two statements labeled as Tand TI.  You must decide whether the data
given i the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following

guidelines:

(a) Mark choice (1) 1f the statement I alone 15 sufficient to answer the
question.

(by Mark choice (2} 1f the statement II alone 1s sufficient to answer the
question.

(¢) Mark choice (3) if both the statements I and II are sufficient to
answer the question but neither statements alone 1s sufficient.

(dy Mark choice (4) if both the statements T and II together are not

sufficient to answer the queston and additnonal data 15 requured.

AP 1 Jood 20 A8% 2D S (B8 154 8% .8 |54y, oD (Bod LILesd thiben e Bodh
madaren  dA@roren adgo@ron. ailid dErord) SX33@3rfod, adid
mataren [R5 Dargrady afjohiy dviTey edErdr So e b
AT Bocre), & AT w5 (Fod 04888 Ar(oren SLEPACD (1) Sod (4) H85)
P06 mond 2ared dohi Hobod.,

{a) (H¥; 5 HdrorSo at ol |HASS0 1 3rSh Sogdhond D eaw (1)

MBaodod.

B) (H¥35 HArprdo adyodkmd 1H5550 T SrEd dosdond H aavaw 2)

m fBodod.

() 123150 S&rgrdo afjothd Bddares LI 203 Susbhlon wodhs D

245383 Srae Hor o TEd o (3) m HBodod.

(d) (D% H3rerdo adjochdh HSdaren LI X0 Sror do 2o 78 sl

S03o mShiSond Db mara ()  BBodod .

What is the area of the right angled triangle?

wozSin Adheo Ans, g0 sod?

IL

Its longest side is 6 cms,

w0 (0 S e Zbo 6 Do o,

One of its angle 1s 457,

6 Shadnod® .58 45
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(i)

Data Sufficiency

BeRod Do

Note: In questions numbered 1 to 20. a question 1s followed by data in the form

of two statements labeled as I and II. You must decide whether the data
given in the statements are sufficient to answer the questions. Using the
data make an appropriate choice from (1) to (4) as per the following
guidelines:

(a) Mark choice (1) if the statement 1 alone i1s sufficient to answer the
question.

(b)  Mark chowce (2) if the statement II alone 1s sufficient to answer the
question,

(c) Mark choice (3) if both the statements I and IT are sufficient to
answer the question but neither statements alone 1s sufficient.

(d) Mark choice (4) if both the statements I and II together are not
sufficient to answer the question and additional data is required.

AP : 1 o 20 SEH @l 3 156 [;:n-i’;_é'}ﬁa 8 15%, o (Bod LI ed) Hven fo Bodh

Padaren ABPoTen adgio@Fon. ey S'roTd) Sadrfod, @d;d
[SddSaren (D35 Sdrorady adjodhd Sviiren aderchr do =0 b
DTBoore). & AT Emb (2od 0S5 ;E dr(eren GLHEPHOD (1) o (4) &%
28 mond aarand dosE Tohod,

(a) 915 HArErdo aTjoth i Baddo ] PSR So;d&kond o aaw ()T
hlodbod.

(b) [54;% Hdrprdo ad o5 (B3G50 I Spadidh Sogadhond o zaos (2)
m Bodob.

() D15 Hirerdo adjohdy Pddaren LI 0D Hosddbon wohd D
al203 Borgr Sopno @ saran (3)  HBodod,

(d) |35 Hdrordo adjodkhs |BdSaren LI 05 Sror SogRo 78 eaddd
&BPod0 mSH8Mond b 2o (4) 7 HBodod.

What is the value of 8a° +5° —27¢72

8a’ +5° —27¢" Bws, Dews wos?

I
I

Options:
1. %1

abc =10

2a+b=3c¢



o ® oo
3. ¥ 3
4 % 4

Sub-Section Number: 2
Sub-Section 1d: 667269462
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6672694591 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O
(1)  Problem Solving
REoRRy ROD

(a) Sequence and Series

efosHiren, Eaen

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

Roedf:  Dden 21 food 30 HOL de DO HEF R Y Homxew MO ST TRO L5
S00gT06 DosrR, Sdm,on. H8 HELG0 B0 BY6 My DY ol
0 Son® Barate 0,80 oS DoLERDE Porio SenrERotR JRPOCRD,

100 111 +: 144

(1) 156
(2) 149
(3) 154
(4) 157

Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 22 Question Id : 6672694592 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
RE0RRy ROG

(a) Sequence and Series

eusHmen, Saen

Note: In each of the questions numbered 21 to 30, a sequence of numbers or

letters that follow a definite pattern 1s given. Each question has a blank
space. This has to be filled by the comrect answer from the four given

options to complete the sequence without breaking the pattern.

Roedf  Dden 21 fod 30 HOL e DS HESHR B Homen MO Bfoeen TRO L5

m@m&-ﬂmm ana-@ﬁnpﬂmﬂgmmﬁpgmm
00 Bowd 2arady g, 520 oo RaLERRE Jorio SeriSrol® gRroowRD,

182 : 11 2101 380

(1) 156
(2) 240
(3) 272

(4) 342

Options:
1. % 1
o %D
3 %3
4 v 4
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(1}  Problem Solving
REORRy, ARG

(a) Seqguence and Series

efosSzioven, draven

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. Tlas has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattein,

amds  Hde0 21 food 30 SO0 o DS DGR B DoMWL TR HFTH) TR 25

SR00GI00 DALSPR), PSnnow. D8 HLEO ED HAD ey DY ol
RO SO SR <ho,E0 eulo PoLERDE Horio SLoriERotR YROoweD.

: 122 :: 168 ¢ 290

(1) 43
(Z) 48
(3) 30
(4) 49

Options:
1. % 1
o D
3 %3
4 # 4
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(1}  Problem Solving
REORRy, ARG

(a) Seqguence and Series
ofiogzimes, ey

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattein.

Al DEen 21 Mool 30 HOH v D& DGR QG Do MR BTN PO 28

Sioagdon DR, Sxddumm,ow. gnw::;-ﬂmagbmaﬁa}gmma&
RO BoH 2amnomo <050 eulo DoLEPDE FHorio SLorEPoR ROoweD.

12 132 20 142
(1} 182
(2 172
(3) 184
4 174
Options:
1.v1
2 ¥ 2
3 ¥ 3
4 % 4
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(1}  Problem Solving
RE0RRy, ARG

(a) Seqguence and Series
ez, draoen

Note: In each of the questions numbered 21 to 30, a sequence of numbers or

letters that follow a definite pattern is given. Each question has a blank
space. Tlas has to be filled by the correct answer from the four given

options to complete the sequence without breaking the pattein.

amdf  HEe0 21 fod 30 HOL Ko DS HYGHR B HOMWeD TRR BT TR 25

Eo0gRon RaLSRD, BTN, 58 HLEO B0 BYH My DIP0 HKod
0 O 2aRn o590 Bfusi oLERDS Poro SLIEROER HROCRD.

| i R . ¥ DA - 2366
(1) 14
(2) 18
(3) 13
(4) 16
Options:
1. %1
2 ® 2
3.¢3
4 % 4
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(1)  Problem Solving
REoRRy ROD

(a) Sequence and Series

ooSHmen, Smen

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern 1s given. Each question has a blank
space. This has to be filled by the comrect answer from the four given
options to complete the sequence without breaking the pattern.

A Hden 21 fod 30 HUW e DB HEFER FYO Howsen RO SEDe TRD 25
E00g306 Holbdrn), Hduoyon. H8 HELE°0 280 BY6 My 29T ol
0O @ond Raraud o650 edusi DabER0S Porlo SeniERolR YROowRD,

corden : zroghq : . PEIVIO

(1)  mulmul
(2) sulsul
(3) munmun

(4)  srspygl

Options:
1. %1
2 VD
3 %3
4 % 4
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(1}  Problem Solving
RE0RRy, AREE

(a) Sequence and Series
oxosHmen, Sraoen

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each guestion has a blank
space. This has to be filled by the comrect answer from the four given
options to complete the sequence without breaking the pattern,

amds:  Hdeo 21 fod 30 HOL e DS HDAGHER HAD HOMED TR HFDVED TR 25
g Ron DakBng), Zeddsm,ow. g&gﬁﬁnpﬁmngﬁmgngmm

DO Sowid 2arotn g 520 ool DobiRDE Jorio Swwritrol® JRoowD,

COUNSEL : BITIRAK : : GUIDANCE :

(1) EOHYZKBB
(2) FOHYZJBB
(3) FPHZZKAB
(4) HOHYBIJBA

Options:
1. % 1
o D
3 %3
4 # 4
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(1}  Problem Solving
RE0RRy, ARG

(a) Sequence and Series
efugzime, daen

Note: In each of the questions numbered 21 to 30. a sequence of numbers or
letters that follow a definite pattern i1s given. Each question has a blank
space. This has to be filled by the comrect answer from the four given
options to complete the sequence without breaking the pattemn,

Amds:  Dden 21 food 30 HOL e DS DGR HAD HOMED TRD HFDVED TR 25
SAHT6 DALHPR, o0, Qaé@npﬁmngﬁmgmgmm
00 Bawh 2ot o520 ol DoLEROE Porio SeurERotR JPROomD.,

DxI: 19x9 : KxF :

LA
=

ol
LMy

(1)
(2) 1

L
-
LM

(3) 16 % 21
(4) 21 =16
Options:
1.¥1
o ® oo
3 ® 3
4 # 4

Question Number : 29 Question Id : 6672694599 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1}  Problem Solving
REORRy, ARG

(a) Seqguence and Series
oxtogsime, Smes

Note: In each of the questions numbered 21 to 30, a sequence of numbers or
letters that follow a definite pattern is given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattern.

Amd  Dgeo 21 fod 30 S0D re HS DGR 26 Homen MR OEmen PO L8

ShongRot Dabirn, oo, 58 HELE0 DEH AYH ey DY ol
RO BoH 2amnomo <io,50 eulo DoLERRE FHorio SLoriERPoR PRoOoweD.

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 30 Question Id : 6672694600 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1)  Problem Solving
REioaRy ROD
(a) Sequence and Series

eoSHmen, Smoen

Note: In each of the questions numbered 21 to 30, a sequence of mumbers or
letters that follow a definite pattern 1s given. Each question has a blank
space. This has to be filled by the correct answer from the four given
options to complete the sequence without breaking the pattein.

A Dden 21 food 30 SO e DO HESFER BAG HORLED RO OFT O L5

SH0ngIod DobErR), dmon. 28 D40 2rE0 2Y0 mey) agTe fod
o8 Sond e 50,50 efoss DebERERS Jotlo SennERoRR PoowRD,

E: 0 R ..

(1) 3432

(2) 4234

(3) 6324

(4) 10648

Options:

1. %1

o %D

3 %3

4 ¥ 4
Sub-Section Number: 3
Sub-Section I d: 667269463
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6672694601 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: In questions numbered 31 to 35 pick the odd thing out:

BE00E: 31 od 35 H6D o DEOS? HOTILDD HROTHEW.

(1)  Mist
ST TR

2) Cloud
a0

(3) Vapour

es5)8
) Ramn
S50
Options:
1. %1
o ® 2
3. % 3
4. 9 4

Question Number : 32 Question Id : 6672694602 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: In questions numbered 31 to 35 pick the odd thing out:

BE00E: 31 od 35 H6D o DEOS? HOTILDD HROTHEW.

[1 2
(1) 5 6
2) (1 2
w2 e
: [1 4
(3) (2 8
@ B
' _4 16
Options:
1.¥1
2 ® 2
3 ¥ 3
4 % 4

Question Number : 33 Question Id : 6672694603 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

[ELDS: 31 fod 35 0% e EoS? HoDILRD HROHEW.

(5 5%
(2) 53
(3) 55
4) 56

Options:



1. %1
o vz
3 %3
4 % 4

Question Number : 34 Question Id : 6672694604 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Note: In questions numbered 31 to 35 pick the odd thing out:

BERE: 31 Wod 35 H6H fTo PEES® YOO HYowE.

(1) Tiger
)®
(2) Deer
20%
(3) Lion
oo
(4) Fox
N7
Options:
1. %1
oD
3. % 3
4 % 4

Question Number : 35 Question Id : 6672694605 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Note: In questions numbered 31 to 35 pick the odd thing out:

BE00E: 31 od 35 H6D o DEOS? HOTILDD HROTHEW.

(1) x*-02x+0.01
(2) B+2k1
(3) x*+6x+9

(4) x*-2x+2

Options:
1. %1
o %o
3 %3
4 ¥ 4

Sub-Section Number: 4
Sub-Section 1d: 667269464
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 6672694606 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EO0E: 36 fod 45 HOH rie DD 28 PYSDH HoDLERK), dar,on. & DCLERR),

00D DOCHD DRSS grBot HPRooCo.

6. 10, 18. 30. 46. 66.

(1) 94
(2) 86
3) 80

4) 90



Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 37 Question Id : 6672694607 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EDs: 36 fob 45 OB rie A0 28 PYSD DHERK, im0, 8 DcLER),

rs00Y dochrd Hirprare S grdoi HRooos.

P, i A& T
g 2 3

(1) 132
2) 147
(3) 142
(4) 13-

Options:
1. % 1
o %D
=¥z
4 % 4

Question Number : 38 Question Id : 6672694608 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

E. G K. 438,
(1) MW
(2) M.U
(3) L.W
(4) N.U
Options:
1.1
2 & 2
3 % 3
4 % 4

Question Number : 39 Question Id : 6672694609 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

768921350, 68921350, 6892135, 892135,

(L) 92135
(2) 89215
(3) 89213
(4) 82135

Options:
1. %1
2 %
3. v 3
4. # 4

Question Number : 40 Question Id : 6672694610 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

11, 30, 128, 346,

(1) 1221
(2) 1331
(3) 1224
4) 1334

Options:
1. % 1
o %D
3 %z
4. 9 4

Question Number : 41 Question Id : 6672694611 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

(1) 88
(2) 84
(3) 86
4) 82

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 42 Question Id : 6672694612 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill in the blanks with suitable answers.

EDs: 36 fob 45 OB rie A0 28 PYSD DHERK, im0, 8 DcLER),

fd00Y DOchHrd DirEraeS? grdoi HPRooos.

18, 20, 17, 21; 16; 22, 15,

(1) 23
(2) 24
(3) 26

|
in

(4)



Options:
1.9 1

o ® oo
3 %3
4 # 4

Question Number : 43 Question Id : 6672694613 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EDs: 36 fob 45 OB rie A0 28 PYSD DHERK, im0, 8 DcLER),

rs00Y dochrd Hirprare S grdoi HRooos.

1 1 1
(1) e =
29" 34" 39
- § ; 5 1
2 _J _l‘ T
2) {23 36 43
- § 1 1
._% _! _l i
3) {32 38 46
: § 1 1
(4] {_! S ol _}
32 39 46
Options:
1. %1
2 & 2
3 % 3
4 ¥ 4

Question Number : 44 Question Id : 6672694614 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

(a+D). (a*=Db?). (a+b)? (a=Db). (a*—D*?. (a+b)® (a=b)>.

(D (@FF
2) (@b
(3) (a*-D)
@) (a=D) (a+ b)?

Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 45 Question Id : 6672694615 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Note: Each of the questions from 36 to 45 follow a definite pattern.

Observe the same and fill 1n the blanks with suitable answers.

EH0E: 36 fod 45 HOK rie DD 28 PYSH HoDLERK), Adnar,on. & DCLERR),

00V HOCHH DERRTeS? ardot HPooPod.

CGK. OSW. AEL
() LQU
(2) MPU
3) MQV
4 MQU

Options:
1. % 1
o %D
3 %3
4. v 4

Sub-Section Number: 5
Sub-Section 1d: 667269465
Question Shuffling Allowed : Yes

Question Id : 6672694616 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)



Data Analysis
serod Ddde

Study the followmg table carefully and answer the questnons 46. 47 and
48. The numbers given 1n the table represent the number of students from
various schools plaving different games.

& 808 HESH BHdMm Ogchbo T Hrodn HAH 46, 47, 48 BLLD HEPGRBO
a0, HPSS® agwd Hoayew, IG0 sber oF DDY ROPLS O Duyte dom

RrdRROND.
Students Samgdoen
Schools Seoseow
Games e A 14 c D £
Koot bal 125 250 100 175 250
i e o o ' )
Basket ball 175 500 105 245 175
eeRodl ol > 2 2 e 2
Cricket 4% 200 i 215 200
5265 3 2 225 21! 2
Fetum 240 210 200 130 | 165
806
Badminton - e - 45 100
PE Doob® . e .
Sub questions

Question Number : 46 Question Id : 6672694617 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



If 20% of the students playing football from school ‘A4’ also play
Badminton. then the total number of students playing Badminton from
School “4’ i1s.

ot A’ dob T@eguaﬁsﬁw@ 20% owRg e 2eE obd Srw

o0t hvme ‘4 od 8 obd &8 Do DS Howy:

(1} 120
(2) 95
(3) 100
(4) 110

Options:

1. %1

2 % 2

3.¢3
4 % 4

Question Number : 47 Question Id : 6672694618 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
The number of students playing Basketball from School ‘C° is

approximately what percent of the number of students playing basketball

from School ‘E’?

Seomee (" tob eyl 26 o dutie Homy, 6o ‘£ H008 eyl o6

GEWE)WWMMD?

(1) 70%
2) 75%
3) 87%
(4)  94%
Options:
1. %1
2 ® 2

93



4 # 4

Question Number : 48 Question Id : 6672694619 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The difference between the average number of students playing all the
games from school ‘B’ and the number of students playing badminton
from that school 1s:

oo ‘B’ tood of, shot oF dusiie HU0 Joms 6 oo 2k obd o8

DERgEL Homs Bogirie Foo.

(i 72
(2) 69
(3) 65
4) 78

Options:
1.9 1

> w2
3 ® 3
4. # 4

Sub-Section Number: 6
Sub-Section 1d: 667269466
Question Shuffling Allowed : Yes

Question Id : 6672694620 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)



Note:The Pie chart given below shows the percentage-wise break up of students

studying various specializations A.B.C.D.E and F in M.B.A. course in a
university, The total number of students how took admussion in MBA in
that university 1s 8000, Study the chart carefully and answer the questions

49 to 53 given below.

D : 83 Do 8gb & - ﬁﬂ,hﬁcﬁmﬂﬁﬂaﬁ[w:ﬂ M.B.A. s 8000
Mol Avdo Dargoen aochindy @ESSmen A B.C.D.E & Fo oges maxve

HSCHOED BeOPYM0D. B DERD, MBS OG0 I, 806 BGH 49 fod 53 HEH vo D4,
o 2R ceabob.

Sub questions

Question Number : 49 Question Id : 6672694621 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The total number of students studving the specializations in C. D and F 1s

C.D svoain F 2:8Za8m 60890 w503 dwie 3ngo domys.

(1)
(2)
(3)
(4)

Options:

1. %1
e g
3 %3
4 % 4

4080
3840
4000
4240



Question Number : 50 Question Id : 6672694622 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Students studying B as specialization forms approximately what percent

of students studying A as specialization?

B 0 2,:8Ea0m <03 duetoen, A B RXBEISm BSOS Duiod

AARET oSTS0?

(1) 84
(2) 83
(3) &2
(4) &85

Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 51 Question Id : 6672694623 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The total number of students studying E as specialization.

E 03,082a6m 80500 <03 Sndo dmsie dow,

(1) 1760
(2) 1520
(3) 1280
(4) 1360
Options:
1. %1
2 ® 2
3 ¥ 3

4. v 4



Question Number : 52 Question Id : 6672694624 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The ratio of the students studying C as specialization to students studying

F as specialization i1s.

C 2,28E0m 6050 W03 dmien F 2,)82asme 60800 w503 dusme Hogs

oo OAS.

(1) 4:7
(2) BT
() ElIi19
(4) 18:13

Options:
1. %1
e g
3 % 3
4 # 4

Question Number : 53 Question Id : 6672694625 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

If x : v represent the ratio of the number of students studying F and C to

the number of students studying D. thenx —y =
X1 o3 F dvoasn C daﬁmé@oéo%ga, D dﬁ%@u%ﬁy
Bogsvie DB ARYnol, OHth ¥ — 1 =

(D @)= (3) 7 @

Note: For this question, discrepancy isfound in question/answer. Full Marks is being awarded to all
candidates.

Options:

1.1

2.2



2.3
4. 4

Sub-Section Number: 7
Sub-Section Id: 667269467
Question Shuffling Allowed : Yes

Question Id : 6672694626 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (54 to 55)
MNote: Study the following data and answer questions 54 & 55.

®In a study ot 1500 rivers the following data were reported: 520 rivers were polluted by
sulphur compounds, 335 were polluted by phosphates, 425 were polluted by crude oil, 100
were polluted by both crude oil and sulphur compounds; 180 were polluted by both sulphur
compounds and phosphates; 150 were polluted by both phosphates and crude oil and 28
were polluted by sulphur compounds, phosphates and crude ofl."”

oolE: 83 800 Hireardin (Berodiw) f Ogohbdo In 54, 55 ot 2amw eabod,

*1500 Sbed 2eDb agoibod® 8 Sod ddrrto Xl Jobodod: 520 Hen
fogso dahtare I 335 PPl dk, 425 5p8 sond Jék. 100 5rE sond
doocin nogso diyFmeddt, 180 nogso i focin sk S,
150 a9, Svocin Sl sand I, 28 dogso dayFmen, Sty Soain SpE
soné Jait Dend;o Dowean.”
Hoocin roglo ddFmeda, 180 rogso Hihtinee Hooin il D6,
150 shdil Hochs 58 covs Jo, 28 fogso e, Skl ooty 56
sand St Beskyo Jomean.™ '

Sub questions

Question Number : 54 Question Id : 6672694627 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The number of the rivers polluted by at least one of the three impurities is

BorGolS® 500 5 5003 Tena0 85 HEoe Joms

(1) 878
(2) 359
(3) 781
(4) 504
Options:

1.¥1



o ® oo
3 %3
4 % 4

Question Number : 55 Question Id : 6672694628 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

The number of the rivers polluted by exactly one of the three impurities 1s

fordods? SQsom 25 S0 DS Seens)0 Sl Hrve Do

(1) 504
(2) 878
(3) 492
(4) 638

Options:
1.1

o ® oo
T %3
4 % 4

Sub-Section Number: 8
Sub-Section 1d: 667269468
Question Shuffling Allowed : Yes

Question Id : 6672694629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (56 to 60)



ic)  Coding and Decoding Problems
g8of A880R Hleen

Direction for Questions 56 to 60

In a certain code, the ' letter of the English alphabet is coded as
#+10(=mod 26 }m letter eyclically, Tor example, 4 letter D is coded as 14"
letter NV and 24" letter .X is coded as 8" letter H (because » + 10{=mod 26)). The
reverse process 1s used for decoding, Basmg on this coding and decoding, answer

questions 56 to 60,

56 dool 60 SO tie Hd e Hre:

8 DOHSIES, soli © D B o5, | 10(=mod26)"
® egom WEabom Siuant. AmiRtns 45 ogto [, 145 ofoo NV i oain 245
o0 Vo 8% egto H ek SiESabetiawn (oomsod i+ 10(=mod 26) sed).
&8380R & b sypsiah Swe 2 Siboi astaEth. B2 E38oh Moain G638 ofitom epetore

BB 56 fod 60 SO Ne Hd.e% Lo trabod,

Sub questions

Question Number : 56 Question Id : 6672694630 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

‘ARMY 1s coded as
"ARMY ™ ae 856 Jahatioehod.

(1) KBWH
2) KBWIJ
(3) KBVI
(4) KBWI
Options:
1. %1

> w2



3 ¥ 3
4. v 4

Question Number : 57 Question Id : 6672694631 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
*‘SEVEN" 1s coded as
"SEVEN’ &8 dgom S58 dohatiebod.

(1) COFOY
(2) COGOY
(3) COFOX

(4) COEOX

Options:
1. % 1
o %D
3. v 3
4 % 4

Question Number : 58 Question Id : 6672694632 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which word 1s coded as “MYVN'?
& wdo ‘MYVN’ m 858 dohadod?

(1) COIN
(2) BOLD
(3) COLD
(4) COME
Options:
1. %1
2 ® 2
3.9 3

4 # 4



Question Number : 59 Question Id : 6672694633 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

The code for *TSICET’ 1s
“‘TSICET’ & &h§

(1) ECSMPE

(2) DCTMOD
(3) DCSMPD
(4) DCSMOD

Options:
1. %1
o ® oo
3 %3
4. 9 4

Question Number : 60 Question Id : 6672694634 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Which word 1s coded as ‘GKB’?
o ao0 ‘GKB’ ™ 888 Schandod?

(1) WAS
(2) WAR
(3) CAT

(4) YET

Options:
1. %1
e g
3 % 3
4. # 4

Sub-Section Number: 9
Sub-Section Id: 667269469



Question Shuffling Allowed : Yes

Question Id : 6672694635 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (61 to 65)

Note: In a certain code language. ‘481" means “sky 1s blue”, *246° means
“sea 1s deep” and ‘698" means “sea looks blue”. Using this
information, answer the questions 61 to 65.

rEH0E: 28 09 598 2pRe?, 481 0o “sky 1s blue’ 246 ©off ‘sea is deep’
Hoocin 698 @of “sea looks blue’ oo ogsn. &8 HEr-oH St Sotxm,

61 0ob 65 HOH o DELD 2w TCDOG.
Sub questions

Question Number : 61 Question Id : 6672694636 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What is the code for “deep™?.

“deep” & 8°E D07

F
I
e’
I

3) 4
(4) ©

Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 62 Question Id : 6672694637 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



The code for ‘sea sky looks” 1s

‘sea sky looks’ 8 856

(1) 619
(2) 492
(3) 846

(4) 298

Options:
1.v¥1

o ® oo
T %3
4 % 4

Question Number : 63 Question Id : 6672694638 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

The code for ‘Sky blue is deep’ 1s:

"sky blue 1s deep’ 8 88E
(1) 6281
(2) 8194
(3) 1824

(4) 1842

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 64 Question Id : 6672694639 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



692 1s the code for
692 HDS 59 oHhod.

(1) deepissea
(2) skyis blue
(3)  Dblue looks deep

(4) sea looks deep

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 65 Question Id : 6672694640 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What is the code for “blue sea™ ?

‘blue sea” 8 SHE o8 ?

(1) 19
(2) ©68
(3) 86
(4) 91
Options:
1. %1
o ® 2

3.¢¥3
4 % 4

Sub-Section Number: 10



Sub-Section 1d: 667269470
Question Shuffling Allowed : Yes

Question Number : 66 Question Id : 6672694641 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(d) Date, Time & Arrangement Problems
88, Hnoho, @indie HHdsen

What day of the week was 26™ January 19832

26 2650 1983 sevod? H 5% ©anod)?

1)  Monday

FosoaRG0o

2) Wednesday

220G ER00

3) Thursday

GTBO
4)  Fnday
EDEFR00

Options:
1. %1
e
3 % 3
4 # 4

Question Number : 67 Question Id : 6672694642 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If a clock takes 22 seconds to strike 12. how many seconds will it take to

strike 97

12 S28t008 25 68airto 22 oty 8080, 9 NLTOS 0D H, DBoH

& 08080007
(1) 163 sec
1

165?050@

(2) 18 sec
18 DB

(3) 16 sec
16 DB

(4) 17 sec
17 D50

Options:

1. % 1

> %2

3. ¥z

4. # 4

Question Number : 68 Question Id : 6672694643 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

At what time between 2 O clock and 3 O clock will the two hands in a
clock be at right angle to each other?

2 drocin 3 obe g O DS BBaIRGOS Both Hweyen 28 WOS? HBEH

002 S, Japow?

5
4y 2u
_ 4
@ 223
: 3
(3) 226

3
(4) 2.2?;

Options:
1. %1
o R
3 %3
4 ¥ 4

Question Number : 69 Question Id : 6672694644 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

Introducing a man. a woman said “he is the only son of my mother’s
mother”. How is the woman related to the man?

28 HWPR DOBaDo T, 28 D DR Vo “ash: T S s, SH3S HI HERwE"

S oEpS, 83 § B HERB VoGS Hod?

(1) Niece

DSE00 [ 5B HHHRD
(2)  Sister

Tl s
(3) Aunt

S0 85 S08 600 [ HSERE 26

(4) Mother
&9

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 70 Question Id : 6672694645 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date. Time & Arrangement Problems
dA. H&cdho, edbles Dl gen

Reaching the place of meeting 15 munutes before 8.30 a.m. Ram found
himself half an hour earher than the man who was 40 nunutes late to the
meeting. Then the scheduled time of the meeting is.

8.30 a.m & 15 Pwaee dwoss udol Yornd S8, veib, fudiofi ) 40 DEwdpw
SOROMR S 28 YWPO Sob Bgriod Sodim SYHE 00D, By folof
DR G800 divabo.

(1) &:20 am.
(2) &:15am.
(3) &:10am.
(4) &:05am.

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 71 Question Id : 6672694646 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If 71 1s the time elapsed between 9:25 a.m to 2:50 p.m. and if 7, 1s the

time elapsed between 10:10 amto 5:15 p.mthen f1: f2=
9.25 a.m 3 2.50 p./m 8 DgS® iGAH doabo 71 Hoain 10.10 a.m 8

5:15 p.m 8 g ndwd HIoabo fHvond, O 11 Hh=

(1) 17:13
(2) 13:17
(3) 53:73
(4)  73:53

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 72 Question Id : 6672694647 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date. Time & Arrangement Problems
a4, Hhilocho, mBb%e Hldhen

Six persons P, Q. R, 5, T and U are sitting around a round table facing the
centre of the table. T is berween P and S, R 1s to the immediate left of U/
and to the immediate right of @ and O 1s to the immediate right of §,

Who 1s sitting between R and 57

P.O.R. 5 T soochn [ od et e &5 mogh g <Hhp Sogeadn g08
4piin dom. P deocdy Sedg I émd. [V 36udobd o653
foncin O 8 Sdodobd HEIDH R donih doocin 5 8 Sfodobd 830 O damth.

R doocin 5 o g obc Sre0 smn,w?

(1)
(2)
(3)
(4)

o W v o

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 73 Question Id : 6672694648 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If a denotes multiplication. f denotes division. 1" denotes addition and

& denotes subtraction. then. 65[{(6}'4],{38}&*2] =

0 TOB%0eR),, [FRndtoe),, 17 dosebo (ErES5) H Hoain J Hsebo (B2IE) &

Smdinol, odyo 65| {(674)p8}a2 |=

1
(1) 25
1
2) 33
(3) 3
4y 2
Options:
1. %1
2 ¥z
3. % 3
4 % 4

Question Number : 74 Question Id : 6672694649 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

For any real numbers ¢ and b. if a*h=a+b—ab then

(1%2)*(3*4)=

DD DD Doexen ( Mo b o a*h=a+b—ab o3,

oy (1%2)*(3%4) =
(1) 1

(2) 2

(3) 3

) 4

Options:

1.¥1

2 % 2

3 ¥ 3

4 % 4

Question Number : 75 Question Id : 6672694650 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(d) Date, Time & Arrangement Problems
88, HHoho, edie DdDsen

If Z denote the set of integers then the number of elements in the set

A ={[a. .It’)):z.f.rEJrSE:v2 =35 a bEZ} is

Z o8, HPRo%e 808 covbiyth HEd AZ{((L b):2a” +3b* =25; a, bEZ}

S50 Haree Hows;
(1} B

(2) 4

(3} =

(4) 12

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

2 2

3.3

4 4

Mathematical Ability

Section Id : 66726968
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 75
Number of Questionsto be attempted: 75
Section Marks: 75
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section 1d: 667269471
Question Shuffling Allowed : Yes



Question Number : 76 Question Id : 6672694651 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1) Arithmetical Ability

©08 5Hd 0 s

X
. X x
e e | A
|1L
(1) 0O
2y 1
29
(3) ;
e
(4) y 2
Options:
1. % 1
> %2
3 %3
4 ¥ 4

Question Number : 77 Question Id : 6672694652 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1)  Arithmetical Ability

©05 50 o seb

.1,1_“-"‘; — (1\/:)1 T g

3

(1) E
: 0
2) =
( 4
(3) 1
1

(4) 5



Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 78 Question Id : 6672694653 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability

©08 1Ed b s

1 1

—— le:S:? e G ¢ S i
g D E

{1y 3001521

(2y 32-18:12

(3) 35:

4) 37

-2
o
[a—
_h

I
L]
[a—

1

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 79 Question Id : 6672694654 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

If for the natural numbers a. b. c. @ +b°> +¢> =8072 and
ad:h=bi¢=3:2 thén d=

damzdomey a. b. c. @ @ +b° +¢ =8072. a:b=b:c=3:2,

T eothitnod, (=

1) 12
(2) 14
(3) 16
(4) 18

Options:

1. %1

o ® D

3 %3
4. 9 4

Question Number : 80 Question Id : 6672694655 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©08 5Hd 0 s

1 1 1 1
——— — =+ = + 1=
59 2-a8 B P
(1) 0
(2) 1
(3) 5

@ 25



Options:
1. % 1
o %D
z. v 3
4 # 4

Question Number : 81 Question Id : 6672694656 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability

©08 1Ed b s

1/18+r«./§:\/1_2 +6 = x=

(D
(2)
3) 12
4) 18

o R v

Options:
1. % 1
o %D
z. v 3
4 # 4

Question Number : 82 Question Id : 6672694657 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

When a positive integer 1s divided by 783 the remainder was 48. What
will be the remainder when the same numbers 1s divided by 29 ?

%8 PaRgS PeRoseR), 783 2eBR o 48 Hod. ©Ff Homn 29 85 =Y

54 dQos?
(1) 13
(2) 17
(3) 19
(4) 23,

Options:

1. %1

2 ® 2

3.¢¥3

4 % 4

Question Number : 83 Question Id : 6672694658 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©08 s s

The numbers of divisors of 1248 other than 1 and the number itself 1s:

Q6 Howsto | O Wwbdsond 1248 Darpame Hows:

(1) 16
(2) 18
(3) 22
4) 24

Options:

1. %1

2 %

3. ¥ 3



4 # 4

Question Number : 84 Question Id : 6672694659 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
(1) Arithmetical Ability
©08 1Ed b s
What 1s the least number which when subtracted from 3000 1s exactly

divisible by 7. 11, 13 ?

7. 11. 13 o 3 adHom B0 ameosl 3000 efued &dTcbdodd

%géo%mﬂ’?
(1) 898
(2) 994
(3) 997
(4) 008
Options:
1. %1
2 ® 2
3. ® 3
4 ¥ 4

Question Number : 85 Question Id : 6672694660 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

What is the largest number which will divide 1354, 1866 and 2762

leaving 10 as remainder in each case?

1354. 1866. 2762 et zrBovdich pamre 10 dhom adE tog oy HB?
(1) 32

(2) 48

(3) o4

(4) 128

Options:
1. % 1
o %D
=¥z
4 % 4

Question Number : 86 Question Id : 6672694661 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(1) Arithmetical Ability

©08 1Ed b s

If the recurring decimal number 3.784 is equal to the rational number

£ and GCD(p. q)=1. then p+q=
q

)00 BE0 Do 3.784 % 20 Soantd SEoHaHHon; 2 48080
q

sy (p. g)=loowd p+q=

(1) 1057
(2) 1379
(3) 3118

4) 4737



Options:
1. % 1
o D
3 %3
4 # 4

Question Number : 87 Question Id : 6672694662 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
(1) Arithmetical Ability

©08 1Ed b s

. 1
3+4 =
421
1)
( 130
, 431
2) —
( 140
441
) —
. 150
451
4 S=
) 160
Options:
1.¥1
2 ® 2
3 ¥ 3
4 % 4

Question Number : 88 Question Id : 6672694663 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The largest among the following number 1s:

&3 808 DHowed® 110 Howys
1) 2
2) 3

3 6
@

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 89 Question Id : 6672694664 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1) Arithmetical Ability

©08 5Hd 0 s

Which of the following statements 1s true ?

&2 808 HHSTHOS® HO DO ?
S = s
4 6 8 9
7 5
(2) li::-l'—::-lﬁ:}l“—
4 8 9 6
8 7 N 1
(3) Isl-alials
9 B8 6 4
5 7
(4) 1%}1—}11}1—.

Options:



1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 90 Question Id : 6672694665 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1) Arithmetical Ability

©08 s s

40 liters of milk contains 10% of water. How many liters of water are to
be added to increase the water content to 20%?

40 beg apod® 10% Hm,on. s HEsesd, 20% % dowmeod] od), Hbdy
DL Bod Hod Hoknod?

) 3

2) 4

(3)
4) 6

L

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 91 Question Id : 6672694666 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The salary of an employee was increased by 20% and then reduced by
10%. What was the net change 1n the employee’s salary?

285 665:0 LR, 20% 2y T Soas D 10% S83 o 66546 LS50 080

30 HD OHDHoH?

(1) 10% imncrease

10% %

(2) 8% increase

8% 0855

(3) 8% decrease

8% &S8H

(4) 5% increase
5% &5
Options:
1. %1
e gl
3. % 3
4 % 4

Question Number : 92 Question Id : 6672694667 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

If an article 1s sold at a loss of 9% instead of loss of 15% a dealer gets
Rs. 420 more. The cost price of the article (in Rs.) 1s
2% OSORB 25 Sk 1 5% HPRS wden 9% HpH8 oS oS08 By 420

DE% Sanod. 8 Hanw) 596,50 (Greu 0&)

(1) 6.000
(2) 7.000
(3) 8.000
(4) 9.000

Options:
1. % 1
oD
3 %z
4 % 4

Question Number : 93 Question Id : 6672694668 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(1) Arithmetical Ability

©05 568 0l seéb

A person buys a car at 20% discount of the original price and sells it at
20% higher than the original price. The percentage gain in this transaction
1S

25 58 25 Seo0 ©Ded 56D 20% SBow) FES O OO Bden 6D 20% DD

OERM. & oean BHS? ertizeso

(1) 20
(2) 40
(3) 50

.
(4) 66—

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 94 Question Id : 6672694669 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

In a business P. Q and R mvested I 7.200. T 12.600 and T 9.600
respectively. What is the share of R (in ) in a total profit of ¥ 6.860 ?
285 oo P, 0. R endwodre X 7.200. T 12.600 and T 9.600 épad

bR, Sngo ergio I 6.860 &8 R apér (Grn 06°) 208?

(1) 2160
(2) 2240
3) 2280
(4) 2340

Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 95 Question Id : 6672694670 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

P and Q enter into a partnership with capitals in the ratio of 3:4. At the
end of 10 months P with draws. If they share profit in the ratios 5:6 for

how many months O’s capital was used ?

P. O 3:4 03 g0 sureganosd 285 8 arahoe), spoomome. 10 oo oand
Soad P 3SPomth. HQH 0oeRl), 3 5.6 0,858 HohSoll O Huresto o),
oD TR ?

(1) 12
(2) 10
3y 9
4) 8

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 96 Question Id : 6672694671 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A pipe can fill a tank 1n 15 hours. Another pipe can empty the full tank in
20 hours. If both the pipes are opened together the number of hours

required to fill the tank 1s

25 D) 25 G0 15 tobedd Dodrem. 36951 dodrr &d) S8 20

fobed® 8 Jabriom. Dot Der 28 o 303 S DoBOEHSD THVH HHoako

rioéee®
(1) 50
(2) 54
(3) 60
(4) 64

Options:

1. %1

2 ® D

3.9 3

4 % 4

Question Number : 97 Question Id : 6672694672 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Two pipes P and Q can fill a tank in 12 minutes and 15 minutes
respectively. If both are opened together and P is closed after 3 minutes

then the time required to fill the tank (in minutes) 1s

P. O o3 Both hapen 235 SAGD Htoore 12 D, 1 50n 06 podrew). BodoBd 23 e

800 3 O St P o Hardd) S28 DoBoms S50l HEehOo (DHnaEness)

|

1 11—

(1) 3

(2) 115

1

3 12—

3 12,

1

i BN

(4) 1.2
Options:
1.1
2 ® 2
3 %3
4 % 4

Question Number : 98 Question Id : 6672694673 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A Person runs 200 meters in 20 seconds. What 1s his speed in kmph?

25 58 200 Hobrg oo, 20 Do Hoddecth. OS0 Brto tob 86

Srbrge? wos?
(1) 28
2) 36
(3) 38
(4) 40

Options:
1. % 1
oD
3 %z
4 % 4

Question Number : 99 Question Id : 6672694674 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(1) Arithmetical Ability

©05 568 0l seéb

Running at F of his usual speed a person improves his timing by 30

minutes. What was his usual time in hours?

w@ﬁmmmma@mmzﬁo&awwamgm

30 p@Ewapen Sdorn PErHBTRE. OS0 Hrdnen DHGDHO obed® Ho0s?

o~
[
p—
-2

i

P
L
-
-2

b | —

—
Lo
f—
I

Options:
1. % 1
o %D
=¥z
4 % 4

Question Number : 100 Question 1d : 6672694675 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(1) Arithmetical Ability

©05 568 0l seéb

P’s work 1s twice as much as Q. If both work together they finish a job 1
12 days. If P works alone the number of days needed to complete that
work?

P30 O30 508 both Béy, pogtr D0 H0 Wl D0 P ochomd 12 aren

Htoeod. P 25,3 5038 o 50 HRochot HEtiaen.

(1) 16
2) 18
3) 19
4) 20

Options:
1. % 1
oD
3 %z
4 % 4

Question Number : 101 Question 1d : 6672694676 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(1) Arithmetical Ability

©05 568 0l seéb

A. B. C completed a work and received 2.1800 as their wages. 4 worked
for 6 days. B for 4 days and C for 9 days. If their wages are in the ratio of

5:6:4 the amount received by B (in rupees) 1s

A. B. C e 2% 500 33p0 dodom® ae08 590 )0 dwdgo aepeo I. 1800.
8 50 A-0 Biaren B- 4 Bharen (-9 Bdaren H0Ioetd. a0 Jdmeen 5:6:4
085 &0l B 8 56 98pwo tr 0b°

(1) 600
23 720
(3) 480
(4) 300

Options:

1. %1

2 %

3. ¥ 3
4 # 4

Question Number : 102 Question Id : 6672694677 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The length and the breadth a rectangular field are in the ratio 3:2. The
cost of fencing the field at the rate of T 50 per meter is T 25.000/-. The

area of the field in square meters 1s

25 B8 SHORT0)) o sH) Senen 3:2 DSBS Har,om. 0o HLP 503
Jooms Howton 50 B P vond ooy T 25.000/-. & oo 3weso
<5.80.069 ;

(1) 12.000

(2) 12225

s i e

(33 12250
(4) 15.000

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 103 Question 1d : 6672694678 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

The circumference of a circle 1s 352 meters. Taking the approximate

i,
value of m to be —. the area of the circle in square meters 1s

|
!

28 Hgo wépSed 352 Hgy, T HHR Dedid z?_zm 0808 @ ;8 Do
5. 80855°

(1) 9546
(2) 9646
(3) 9756
(4) 9856

Options:
1. % 1
o %D
3 %z
4. 9 4

Question Number : 104 Question 1d : 6672694679 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(1) Arithmetical Ability

©05 568 0l seéb

The radius of the base of a cylinder 1s L of the radius of the base of a

ot

cone. If their heights are equal then the ratio of their volumes is

g l -
aﬁﬁgmoﬁnagﬂagowrﬁoﬁa@ma%ﬂago& Eé‘a&né:-. o&) deen HHRH

Boond o Hodrmee DS
(1) 1:5
2y 223
(3) 5
(4) 3:2
Options:
1.v1
o ® 2
3. % 3
4 % 4

Question Number : 105 Question Id ;: 6672694680 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Three metal cubes of sides 6. 8 and 10 cms are melted and formed into a
single cube. If there is no loss of metal in the process what 1s the side of
the big cube (1n cms) ?

Samth 5530 soaee Zhzeen Swnme 6. 8. 10 2o.fon. HBD 56800 &8 28 Hodore

T, 83 DERHOS O DERD St SEDES 1Y FwHo Z020 (R0.80.065°) vods?

(1) 12
(2) 14
(3) 15
(4) 16

Options:
1.¥1

2 ® D

3. ¥ 3

4 # 4

Question Number : 106 Question Id : 6672694681 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

A semi-circle 1s constructed on each side of a square of side 2m. Then the

whole area of the figure (in sq.m) 1s

2 £ Zozom B 28 S0P H 2o D 8 OTHSLY, HYEVO. 8 TG0 BwEo

Bpe0 (I.80.069)
2
(1) 10:
3
(2} 10—
2
(3) 12=
2
(4) EU?
Options:
1.v1
o %D
3. % 3
4 % 4

Question Number : 107 Question 1d : 6672694682 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(1) Arithmetical Ability

©05 568 0l seéb

The difference between the circumference and radius of a circle 15 111

5 a ~
cm. Then the area of the circle (1in cm”) ?

25 HB0 B, WEPSOSH TR ayReRdS to F60 111 Ro.db. @ond
6 B IR0 (F.20.20. )

(1) 693

(2) 1386
3) 2079
4) 2772

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 108 Question Id : 6672694683 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(1) Arithmetical Ability

©05 568 0l seéb

Two poles of height 15 meters and 30 meters are erected 1n a playground
at a distance of 36 meters between them. The distance between their tops

(1n meters) 1s

1580. 30 fo. oo Hozret 8 g 36 f. arco G0ty 25 Jwebod® Dedge.
& Dozre P E%6e Mg 5rvo (. ©69)
(1) 36
(2) 38
(33 39
(4) 40

Options:

1. %1

2 %

3. v 3

4. # 4

Question Number : 109 Question Id : 6672694684 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(1)  Arithmetical Ability

©05 R ol s

The number equal to ( 254)5 1 ternary system 1s



Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to al
candidates.

Options:

1.1

2 2z
2.3
4. 4

Question Number : 110 Question Id ;: 6672694685 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
(1) Arithmetical Ability

©08 5Hd 0 s

The sum (1010)p, + (102),
(1010){2} + (1[}2)(3) eﬁanego %K)O&Féw

(1)  (10011)p
2)  (10101)p
(3) (10001)q,
(4)  (10110)p

Options:
1. % 1
o vz
3 %3
4 % 4

Sub-Section Number: 2
Sub-Section Id: 667269472
Question Shuffling Allowed : Yes
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Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
For any two statements p. ¢, the contrapositive of p = ¢ 1s:
HI0 Both pHdaren p. ¢. 0B p—> g S, Hs dodo:
(1) q=r
2) ~p=-q
3) ~4=rp
4) ~p=-q

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 112 Question 1d : 6672694687 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability

Befah S0 =BBD Feddse

For any two statements p. g the converse of ~ p=¢q 1s

DI Voth HSTeen P, 0D ~ p =g 1S s, DHGoDo

D ~(png)
(2) png
(3) pvdq
@ ~(pva)
Options:

1.v1

o ® 2

3. % 3

4 % 4



Question Number : 113 Question Id : 6672694688 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

Bfah 500N =AECH FBgss
If @ Ndenotes the set {ax:xeN} then SNNTN =

swe {ax:xeN} & aN 8 ared, INNTN =
(1) 2IN
2) 42N
(3) 3N
4 TN

Options:
1.v1

o B oo
3 ® 3
4 % 4

Question Number : 114 Question 1d : 6672694689 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If R :{(a, D) cR%:a—b++/2 is m'aticrﬂal} then the relation R on R? is:
R={(a. b)eR*:a—b++[25chich doms} wond R o0 R’ p wenod

POVOGPaHTR @80,

(1) Symmetric

argHo

(2) Transitive

PoSa00

(3) Reflexive
HORSBHO

(4) Anequivalence relation

d:e;a‘mz.}ot;o

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 115 Question 1d : 6672694690 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

édkﬂaéuﬁdﬁ:zaﬁbémﬁ:ﬁmﬁ%bé
If ;“(1) laudf n ZZfﬁ H}IJ then if(ﬁ:) =
F=1

n—1 m
fM)=L f(n)=2 f(k). (n>1)ood > f(k) =
k=1 k=1
(1) ;i
(2} SM
(hy Jn=
(_,H Sm—l
Options:
1. %1
o ® 2
3 %3
4. 9 4

Question Number : 116 Question Id ;: 6672694691 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

Bfah SO0 =ABCH FBgse

The sum of the intercepts made by the line 7x+2y=28 on the

coordinate axes 1s

dowlw Tx+ 21 =28 pordimped JD vostwomee Ando

) 92
@& I8
(3) 14
9
4 o
) 14
Options:

1. %1



o o
3 %3
4 % 4

Question Number : 117 Question 1d : 6672694692 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

(11)  Algebraic and Geometrical Ability
Bad B0k =BBD DG

A line [ passing through the point (1. —2) is perpendicular to the line

x+2y+1=0. Then the point of intersection of [ andx+ 2y +1=0 1s:

(L —2) 20m8 womascd 28 2680, ¥ + 21 +1 = (ol soedes eowom

$00. o [ ociv ¥ +217+1=0 o wotsd BoPH

(1) (-1 0)
@) (L =1}

i B
o (&9

4 (5. -3)

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 118 Question Id : 6672694693 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
CDS(A +45"') + 51'11(A—45" ) —

(1) «ﬁsinA

2) [2cos4
(3) 0
(1)

Options:
1. % 1
o %D
3. v 3
4 % 4

Question Number : 119 Question Id : 6672694694 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

B ook =RBh Do

-:c-s2 A=smAtan 4 = cotﬁ A - cotz A=

(H 1
2y 2
3 3
B

Options:
1.9 1

> w2
3 ® 3
4. # 4

Question Number : 120 Question Id : 6672694695 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

cos@ s1n &

L7 )

— T7cos20+6sm28 =

(1) )

@ 2

S

(3) )

)

(4) E
Options:
1. %1
2 ® 2
3.¢¥3
4 % 4

Question Number : 121 Question Id : 6672694696 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B o0k =sRBD Doy

The angle of elevation of a tower from a point 40 meters from foot of the
; af 3 : : ;
tower 15 €Ot 1[;). Then the height (in meters) of the tower 1s

25 Dozio anco wob 40 Hby Grcod s, 5 VomdHiod Jowo €355

cnt_l[%] oond, & D00 o) (fogd?)
1
1 33—
(1) -
(2) 40
(3¥ 50
2
4 66—
(4) =
Options:
1. %1
2 %2
z %3
4 ¥ 4

Question Number : 122 Question 1d : 6672694697 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
The quadratic polynomuial in x which when divided by x—1. x+2. x+1

leave remainders 3. 24. 9 respectively is
¥—L x+2. x+1eodpdodm Swdm 3. 24. 9 dapet 596 X &8 S

(1) x*+x+22
(2) x*+3x+11
(3) 4x?+3x+-2

(4) 4x*-3x+2

Options:
1. %1
o %D
3 %3
4 v 4

Question Number : 123 Question Id : 6672694698 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
If x + a is the highest common factor of x*> + bx + c and x* + dx + ¢,

then the value of ¢ 1s

x*+bx+e¢ x*+dx+e © 1103) MRt 2o X + a eawd, a ded

c—e
1
() b—i
b—d
@ =
c—ée
Cc+ e
3
3) b+d
@) b+d
c+e
Options:
1.¥1
o ® D
3 %3
4 % 4

Question Number : 124 Question 1d : 6672694699 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If p(.‘r] 1s a quadratic polynomuial such that

p(1)=7. p(-1)=3. p(0)=4, then p(10)=

p(x) sssgasedpeow, p(1)=7. p(-1)=3. p(0)=4. edbsenod

p{lD):

(1) 110
(2) 120
3) 124
4) 69

Options:
1. %1
o %2
3. v 3
4 % 4

Question Number : 125 Question Id : 6672694700 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

(11)  Algebraic and Geometrical Ability
o ook BB Doy
The remainder when x* + 43" —5x* —6x+ 7 is divided byx—3. is

Ay -5 —6x+T -3 3 eBonm Dy B0

(1) 143
(2) 131
(3) 132
(4) 133

Options:



1. %1
o %o
3 %3
4 ¥ 4

Question Number : 126 Question Id : 6672694701 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

B 805 =ABD G

" . i
If a number x exceeds its reciprocal by 2—. thanx™ =

| b2

2 5
28 H0R X O ) 51,00 BB, 2? 0E%d ®ond, ¥ =

o

(1)
(2)
(3)
(4)

D
o

|
_n

Options:
1. % 1
o WD
3 %3
4 % 4

Question Number : 127 Question Id ;: 6672694702 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

Seda SOk @ptdod Jugse
: . T : :
A fraction becomes = if 2 15 added to both 1ts numerator and

denonunator. However. 1if 17 1s subtracted from both numerator and

' b 2 : .
denonunator the fraction hecmues—q. If 1 15 added to 1ts numerator and
| Bs

denominator, the fraction becomes,

-q
2% 2,0 s of, Moot 1 M Sl of— ofdod, TR addtoe kool

|7@ﬁmﬂm%m 26,0 dus, vddtmoD | D Sewdm S5 26,0

17
(1) 1_4
16
(2) o
18
(3) s
15
(4) =
Options:
1.¥1
2 % 2
3 ¥ 3
4 % 4

Question Number : 128 Question Id : 6672694703 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

e : : . 13 :
The sum of first three terms of a geometric progression is = and their

product 1s —1. Then the fourth term is

25 rodsSP0 B Hurth ameangogmmnmesago —1 oRE s Huo

—16
iy —
9
-8
2 e S
(2) 5
. —8
3 —
(3) 3
—4
4 —
(4) ”
Options:
1.v1
2 ® 2
3. % 3
4 # 4

Question Number : 129 Question Id : 6672694704 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

How many first few terms of the geometric progression 3. 6. 12. 24, ..

add up to 765?

wedd 3. 6. 12, 24, ... &0 3wss o), doee dndo 765 ofHod?

(1) 15
2y 16

4) 8
Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Number : 130 Question Id : 6672694705 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

e \9
SiE % . 4 S5 Y,
The coefficient of x” in the expansion of [T— 1s
5]

2x
- 9
4 5 5
TR B, DGR 17 B, rheso
5 X
9x 2!
(1) =
9'><_,15
(2) 5
5
9 x 216
(3) =
9 x 2!
(4) e
Options:
1. %1
o ® oo
3 %3
4. v 4

Question Number : 131 Question Id : 6672694706 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

10 ~ 10 e
Cp¥ Cotuot Cp=
2y 2
3) 2°
@ 2°
Options:
1. %1
o ® 2
3 v 3
4 % 4

Question Number : 132 Question Id : 6672694707 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

Bfoh SO0 =AECH Fdgse

20 e

(1) 3
(2y 4
3) 3
4) 6

Options:

1. %1

2 ® 2

3 ¥ 3

4 ¥ 4



Question Number : 133 Question Id : 6672694708 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(11)  Algebraic and Geometrical Ability

Bfah SO0 =ABCH FBgse
The system of equations:
eEyi =3
2x + 5y +4z=11
5x + 2y + z = 10 has
m&mw

x+y+z=3
2x+5y+4z =11
5x+2y4+z=10%

(1) umique solution
HBE GO SO

(2) no solution
GH S

(3)  infinitely many solutions
OBHOSHR, MSHeD 505

(4) two solutions
Both agden Sog)

Options:
1.9 1

> w2
3 ® 3
4. # 4

Question Number : 134 Question Id : 6672694709 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

: g::x 3 €3.‘ﬁ'
11111 s aat =
*—30 e X _E‘.\.

(1)

(S

(2)

FER N

(3)

(4)

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 135 Question Id : 6672694710 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

b dy
(x+3)" =x" =L =
dx
X+ v
(1) :
xXx—¥
¥
B =
X
X
3} =
2 4
5 Mok
(4) '
X+y
Options:
1. %1
2 ¥z
3. % 3
4 % 4

Question Number : 136 Question Id ;: 6672694711 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

o ook =RBD Doy
Ina A4BC, |B=55", |C=45 and bisector of |4 meets BC ata
point D. Then |[CAD =

28 AABC & |B=55, |C=45 wmocin |4 ssamosddey BCo D

$g Seiu®,®. o |CAD =
(1) 80°
(2) 40°
(3) 50°
(4) 60°
Options:
1. %1
2. D

3 ¥ 3
4 % 4

Question Number : 137 Question Id : 6672694712 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy

If the point 4. B. C and D are Concyclic. Then |4BC +|A4ADC =

somPew A, B. Cand D ev <58asm83, |ABC +|ADC =

(1) 90°
2 120°
(3) 180"

(4) 135°

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 138 Question Id ;: 6672694713 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B o0k =RBD Doy

A circle touches all the four sides of a quadrilateral ABCD as shown

below. If AB=3 cm. BC=4 cm and CD =5 cm then 4D =

£006 SR DGR 8 Higo 8 Sddhyzo ABCD ey ghepeiir Oy8:08.

AB =3 2.80. BC =42.8 vocim CD =5 2.8.®and 4D =

A3 4 cm 4 2.

£o
2) 5 cm 5 2.80.
3) 3 cm 3 2.8

&o

4) 6 cm 6 .

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 139 Question Id : 6672694714 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B o0k =sRBD Doy
The points A4 (5. 2). B (6.—15). C (0. 0) are vertices of the triangle
which is

4(5.2). B(6.—15). C(0.0) #3800 dzvzo Gws; Soen

(1) equlateral
BRI

(2)  1sosceles
SRS

(3) right angled
008%n

(4) rnight angled 1sosceles
00288 D0l VT
Options:
1. %1
2 %2
3 ¥z
4 % 4

Question Number : 140 Question Id : 6672694715 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(11)  Algebraic and Geometrical Ability

B ook =sRBD Doy
If three vertices of a rectangle are (4. 1). (7. 4) and (13, — 2) then the
fourth vertex 1s

25 DIHoHY e Sopen (4. 1). (7.4). (13. —2) oond =& So0

(1 19 —3)
(Z) 18, =9)
5 e | ) W

(4) (10. 5)

Options:

1.v1

2 ® 2

3 %3

4 % 4
Sub-Section Number: 3
Sub-Section 1d: 667269473
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 6672694716 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD ﬂﬁﬁgsé

The arithmetic mean of 10 observations 1s 48. If two more observations
65 and 75 are added to the data. then the arithmetic mean of the entire
data of 12 observations is:

10 dodode oosnne Hritn 48, 5068 Soth Hododen 65 Haakn 75 edo

deRomO8 Hodm 54 12 dodode vosnhd drikw

2

1 51—

(1) :

2 ‘302

2 & 5

1

(3) 52—

J

3

(4) 53?
Options:
1.¥1
2 % 2
3 ¥ 3
4 % 4
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Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD ﬂﬁﬁgsé

The median of first 2» natural numbers is

Bwed 211 Hire Homse gk o

iy 3
5 el
(2) n+ s

3) n+l
4 n+2

Options:

1. %1

2 ¥z

3. %3

4. % 4

Question Number : 143 Question Id : 6672694718 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

(iii) ~Statistical Ability
PoWETRD ﬂﬁﬁgsé

For a data the median 1s 53.5 and the mean 15 53.8. Then mode of the

data 1s

%8 omo0S8 Sogrido 53.5 drtw 53.8. o o omody)) It

(1} 513

2y 527

(3) BH29

(4) 3534
Options:

1. %1



o ® oo
3. ¥ 3
4 % 4

Question Number : 144 Question 1d : 6672694719 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: O

(iii) ~Statistical Ability
RORETD a“‘“‘”ssé

The standard deviation of first 25 natural numbers 1s

SNEES 25 D oW TS dVedo
(1) 54
@ 26
(3) 13

(4) 2413
Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 145 Question Id : 6672694720 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability

TROWSTD PETc
The variance of first n natural numbers is
B06E 11 DR Do DB
n-—1
() 12
2) n—1
2 6
i |
(3)
3
. |
) 24
Options:
1.¥1
> R oo
3 % 3
4 % 4
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Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

If the sum of squares of the deviations of ranks of two players i »

Zir(n—i—l]
3

Sports 1s . then the coefficient of rank correlation 1s
2n(n+1)

1 @3 Bagts Sbimet, Txo%e Ddvme SO SwEo :

©ons,

B8 DaPpmood maso

n—4
1)
( n—1
n—>3
(2)
in—1
n—23
(3)
n—1
n—>3
A4
@ n+1
Options:
1. %1
2. 2
3 %3
4 % 4
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(iii) Statistical Ability
PoWETRD ﬂﬁﬁgsé

If 4 and B are two events in a random experiment with the probabilities

P[;I):‘g. P(B):l% and P(-iﬁB):i. then P(E r‘wg):

Here, 4 is the complementary event of 4)
2% CiREy QS HAREOSD Both fobden 4. B o Ho0ofod HogRss Sen

P(4)= .P(B):%. oclytpo. P(ANB)=__

| e

@55 A oD A DS, PSS ko)

13

(1) —

24

11

2 o

(2) 24

3 o

3) 24

5

(4) i
Options:
1.v1
2 ® 2
3. % 3
4 # 4

Question Number : 148 Question 1d : 6672694723 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(111)  Statistical Ability
TROWSTD PETc
If a number is selected at random out of the first 120 natural numbers.

then the probability that it 1s a composite number 1s

068 120 Hire Do €008 28 DoRyd CiRGREOM HByD0H, 08

20
1 Skl
(1) 120
87
2 R
@ 120
: 31
=
120
1
4 =
(4) 1
Options:
1.v1
2 %2
z %3
4 % 4

Question Number : 149 Question 1d : 6672694724 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a“ﬁgsé

If three vertices are selected at random from the vertices of an octagon.
then the probability that no two of their three vertices are adjacent to each

other 1s

28 o Gws, Sove tod Burth Soset aird;gsome H),508, 6 Hurdodd®
© Dot H5,05:6 TLom SoBky HoPRHS

(1)

~1|

~1 | =

(4)

—1 | A

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 150 Question Id : 6672694725 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



(iii) Statistical Ability
PoWETRD a"ﬂ‘ﬂgsé

If four boys and five girls sit in a row at random. then the probability
that all boys sit together 1s

Do) 2RO, DI 2RO CIRGYSOM 25 SWHS® ERRS, weensontr

28 S 5B Dogedd
1
(Y =
21
2
(2) —
21
1
(3} =
4
5
21
Options:
1.v1
2 %3
3 %3
4 # 4
Corrormnication Ability
Section Id : 66726969
Section Number : 3
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions; 38
Number of Questionsto be attempted: 38
Section Marks: 50
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 667269474

Question Shuffling Allowed : Yes



Question Number : 151 Question Id : 6672694726 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:
Restive

(1) restful
(2) restless
(3) quiet

(4) laid-back

Options:
1. %1
e
3 % 3
4 # 4

Question Number : 152 Question Id : 6672694727 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Wield

(1) handle
(2) farm

(3) extend
(4) 1ncrease

Options:
1.91

o oo
3 ® 3
4 % 4

Question Number : 153 Question Id ;: 6672694728 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:
Whimsical

(1) repulsive

(2) impulsive

(3) Dbalanced

(4) optimistic

Options:

1. %1

2z

3 %3

4 % 4

Question Number : 154 Question Id : 6672694729 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Vociferous

(1)  silent
(2) friendly

(3) loud
(4) proud
Options:
1. %1
o %D
3. ¥ 3
4 % 4

Question Number : 155 Question Id : 6672694730 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct meaning for the word given:

Uprising
(1) promising
(2) rebellion
(3) apprehension

(4) approval

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 156 Question Id : 6672694731 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct meaning for the word given:

Rampant
(1) restramned
(2) unsatisfactory
(3) satisfactory
(4) unrestrained
Options:
1. %1
o %o

3 ¥ 3
4 ¥ 4

Sub-Section Number: 2
Sub-Section 1d: 667269475
Question Shuffling Allowed : Yes

Question Number : 157 Question Id : 6672694732 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blank choosing the correct word

The wealth of India tempted many foreign invaders.

(1) scanty
(2) inadequate
(3) fabulous

(4)  salubrious
Options:
1. %1
o %D
3. ¥ 3
4 % 4

Question Number : 158 Question Id ;: 6672694733 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank choosing the correct word

The disaster was . thanks to timely action.

(1) 1mminent
(2) averted
(3) certamn

(4) 1inescapable
Options:
1. % 1
o D
3 %3
4 % 4

Question Number : 159 Question 1d : 6672694734 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blank choosing the correct word

The havoc caused by the storm was

(1) attractive
(2) phenomenal
(3) encouraging
(4) animating

Options:

1. %1

oD

3 %z

4 % 4

Question Number : 160 Question Id ;: 6672694735 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blank choosing the correct word

The welfare measures by the Government benefited the entire
society.

(1) suppressed
(2) generated
(3) stalled

(4) 1solated

Options:
1. %1
e g
3 %3
4 % 4

Sub-Section Number: 3
Sub-Section 1d: 667269476
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6672694736 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

The package of MS Office that is used to curate documents 1s known as

(1) Word
(2) Excel
(3) PowerPoint

(4) Internet

Options:
1.v¥1

o ® oo
T %3
4 % 4

Question Number : 162 Question Id : 6672694737 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

A barcode reader 1s an example for

(1)  Output device

(2) Input device

(3) Processing device
(4)  Storage device

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 163 Question Id : 6672694738 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer
Algorithm consists of

(1) aset of discontinuous steps
(2) asetof sequential steps

(3) aset of imprecise steps

(4)  aset of random steps

Options:
1. %1
o WD
3 %3
4 % 4

Question Number : 164 Question Id ;: 6672694739 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

Which of the following is not an operating system?

(1) Microsoft

(2) Linux
(3) Windows
(4) Ios

Options:

1.v1

o %D

3. ¥ 3

4 % 4

Question Number : 165 Question Id : 6672694740 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

Which of the following provide bi-directional communication but in one
direction at a time?

(1)  Simplex
(2) Halt-duplex
(3)  Full duplex
(4) Half—simplex
Options:
1. %1
2. ¥ 2

3 % 3
4 % 4

Question Number : 166 Question Id : 6672694741 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Choose the correct answer
The abbreviation "NAV™ of mutual funds stands for

(1) Net Asset Value
(2)  Net Amount Value
(3) Non Accrued Value

(4) Non Adnussible Value

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 167 Question Id : 6672694742 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer
A Security agent against a loan 1s known as

(1) Collateral

(2) Mortgage

(3) Commercial paper
(4) Invoice

Options:
1.91
o R
3 % 3
4. # 4

Question Number : 168 Question Id : 6672694743 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

Thinking creatively. abandoning all pre conceptions is often described as
thinking

(1) Beyond the box
(2) Beyond the sky
(3) Outside the box
(4) Cogently

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 169 Question 1d : 6672694744 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

The Empirical School of Management emphasizes on the

(1) Experience of managers
(2)  Experience of the subordinates
(3) Experience of the consumers

(4)  Experience of the public

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 170 Question Id ;: 6672694745 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Choose the correct answer

The wage system wherein a definite sum of money is paid for a particular of
work 1s known as

(1)  The piece wage system

(2)  The time wage system

(3)  The differential piece wage system

(4)  The incentive wage system

Options:
1. %1
o vz
3 %3
4 % 4

Sub-Section Number: 4
Sub-Section 1d: 667269477
Question Shuffling Allowed : Yes

Question Number : 171 Question Id : 6672694746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A: “Are you worried about Ramya™
B: *“No. not at all! I know she can give as good as she gets.”
‘B’ implies that

(1) Ramya pays compliments to all

(2) Ramya 1s Very generous

(3) Ramya hates every one

(4) Ramya can argue or fight as strongly as one’s opponent does.
Options:
1. %1
2 %2
3 %3
4 v 4

Question Number : 172 Question 1d : 6672694747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct answer

A: “We thought everything was settled, but now they say they are not
happy.”

B: *So you are back to square one again.”
‘B’ implies that
(1) the deal 1s partly a success
(2)  the deal 1s given up

(3) the deal 1s back to where they started

(4) the deal 1s settled
Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 173 Question Id : 6672694748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

“Enter it in the register.” Change the above sentence into passive voice.
(1)  Letit be entered in the register
(2) It should be entered in the register
(3) Find the register
(4) Has it been entered in the register?

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 174 Question 1d : 6672694749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Choose the correct answer

“T tried to explain, but the manager cut me short.” According to the speaker
the manager

(1) allowed him to complete what he was saying
(2)  questioned him on his explanation

(3) interrupted him and did not allow him to finish
(4)  scolded him roughly

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 175 Question Id : 6672694750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

A: “How your weekend?”
B: “Tt was a roller coaster ride.”
‘B’ implies that the weekend was

(1) unexciting
(2) characterized by unexpected sudden change
(3) strenuous

(4)  spent in entertainment
Options:
1. % 1
2 2
3 %3
4. # 4

Question Number : 176 Question Id : 6672694751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0

Choose the correct answer

“If the room had been brighter. I would have been able to read for a while
before bed time.” The speaker implies

(1)  the room had light
(2)  the room had light enough to read
(3)  the room had no light at all

(4)  the room had light but not enough to read
Options:
1. %1
2 ® 2
z %3
4 ¥ 4

Question Number : 177 Question Id : 6672694752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Choose the correct answer

“The manager kept his staff at a distance.” The manager implies that the
manager

(1) asked hus staff to stand at a distance
(2)  asked his staff to stay at a distance
(3)  was not friendly with his staff

(4) was friendly with his staff.

Options:
1. %1
2 %
3. v 3
4 % 4

Sub-Section Number: 5
Sub-Section 1d: 667269478
Question Shuffling Allowed : Yes

Question Number : 178 Question 1d : 6672694753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Fill in the blanks with the appropriate phase/verbs/ preposition:

“Are you hungry? Would you care something to eat?”
(1) for
(2) of
(3) about
(4) on
Options:
1.v¥1
2 82
z %3
4 % 4

Question Number : 179 Question Id : 6672694754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

His salary is not enough to live

(1) by
2} of
(3) for
(4) on

Options:

1. %1

2 ® 2

3. ¥ 3

4 ¥ 4

Question Number : 180 Question Id : 6672694755 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

The staff are strike.
(1) on
(2) by
(3) 1

(4)  through
Options:
1.v1
o %D
3. ¥ 3
4 % 4

Question Number : 181 Question Id : 6672694756 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

In a fit of emotion he his job.

(1) threwup
(2)  threw over
(3) tumed over

(4) tumedup

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 182 Question Id : 6672694757 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

They were asked to the decision of their supervisors.
(1) abidein
(2) abide with
(3) abide for
(4) abide for

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

2 2

3 3

4. 4

Question Number : 183 Question Id : 6672694758 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

If you make a mistake on the form. just

(1) put it off
(2)  cross it out
(3) turn 1t off
(4) tum it away

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 184 Question Id : 6672694759 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Fill in the blanks with the appropriate phase/verbs/ preposition:

Engineers a new channel for the stream to follow.

(1) gouged
(2) goaded
(3) steered
(4)  slithered

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 185 Question Id : 6672694760 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



Fill in the blanks with the appropriate phase/verbs/ preposition:

Do her parents about it?
(1) knew
(2) knows
(3) know
(4) known
Options:
1. %1
o R
3. v 3
4. # 4
Sub-Section Number: 6
Sub-Section 1d: 667269479
Question Shuffling Allowed : Yes

Question Id : 6672694761 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)



Read the following passage and answer question

What are the economic mpediments to greater financial mclusion? Perhaps
the most important is the economic condition of the excluded. World over, the
poor, the small and the remote are excluded. It 15 not just because the financial
system is underdeveloped. but because they are hard to service profitability.
MNevertheless. this 15 not a reason to abandon hope. but to ask how we can

overcome the impediments in the way of inclusion.

The excluded may live in remote areas or mayv belong to commumties or
segments of society that undertake economic activity informally-they do not
maintain records or have signed contracts or documentation. Theyv often do not
own property or have regular established sources of income. As a result. a banker,
especially if as is typical, he i1s not from the local region. will have difficulty

getting sufficient mformation to offer financial products.

Sub questions

Question Number : 186 Question Id : 6672694762 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Whom does the passage exclude in the category of “the excluded™?

(1)  the small
(2)  the poor

(3)  the illiterate
(4)  the remote

Options:
1. % 1
o %D
3. v 3
4 # 4

Question Number : 187 Question Id ;: 6672694763 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0



What is the main reason for economic exclusion?

Options:

1. %1
e g
3 % 3
4 % 4

(1)
(2)
(3)
(4)

the backwardness of the people
the difficulty in offering profitable financial services
the lack of money with the poor

the undeveloped financial resources

Question Number : 188 Question 1d : 6672694764 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
Which 1s not stated as a common feature of the excluded?

Options:

1. % 1
o %D
3 %3
4. v 4

(1)
2
3)
4)

not having a regular source of income
not owning property
doing financial transactions informally

being financially illiterate

Question Number : 189 Question Id : 6672694765 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Why does the banker have difficulty in getting sufficient information about
his customers?

Options:

1. %1
o oo
3 93

(1)
(2)
(3)
(4)

he does not understand their language
he belongs to the same region as his customers
he 1s not local to the region

he does not have time



4 # 4

Question Number : 190 Question Id : 6672694766 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: O

What does the term ‘impediments” mean?
(1) drawbacks
(2) apparatus
(3)  barriers
(4)  implications
Options:
1. %1
2 ® 3

3. v 3
4 # 4

Sub-Section Number: 7
Sub-Section 1d: 667269480
Question Shuffling Allowed : Yes

Question Id : 6672694767 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)



Read the following passage and answel questions

Every Olympic athlete. every leader. and very human being has a lhttle
known brain part in commeon: a Quit Switch. Some people out of lifelong habit
throw the quit switch at the first sign of frustration. Their day of phone calls gets
frustrating. so they throw the switch and go for coffee with a co-worker for two
hours of sympathetic negauvity. Evervone has a Quit Switch. Not evervone
knows it. Get to know it: notice yourself flipping the switch. You can’t quit and
vou won't quit until you throw the switch. A human being is built like any animal
to persist until a goal is reached. Somewhere along the way. though. we learn about
this little switch. Soon. we start flipping the switch. We quit. If you weren't in the
habit of throwing the switch too early, you would aclueve virtually any goal you

ever set. Whether vou flip 1t early or late 1s only habit.

The switch thpping habit 1s nusinterpreted as lack of will power. courage.
drive or desire. but that is nonsense. It's a habit and like any other habit. it can be
replaced with another habit. Make it your habit not to throw the Quit Switch early
11 any process.

Sub questions

Question Number : 191 Question Id : 6672694768 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0
What 1s a “"Quit Switch™?
(1) an electric point
(2) asudden desire to give up
(3) aportable gadget
(4) asudden feeling of happiness

Options:
1. % 1
e e
3 %3
4 % 4



Question Number : 192 Question Id : 6672694769 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

What are most people unaware of ?

(1)  that no one 1s mnfallible
(2)  that success comes to one and all
(3)  that permission is uncomnmmon

(4)  that failure 1s mnevitable

Options:
1.¥1

o B oo
3 ® 3
4 % 4

Question Number : 193 Question 1d : 6672694770 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

When do people use the *Quit Switch’?

(1)  when they are too lazy
(2)  when they are too busy
(3)  when they are frustrated

(4)  when they do not want to work
Options:
1. %1
2 %2
3 ¥z
4 % 4

Question Number : 194 Question Id : 6672694771 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
Why is it unnatural to “Quit’?
(1) 1itisa flaw

(2) 1tisa solution

-

(3) 1t1snormal

(4)  persistence 1s in-built in humans

Options:
1. %1
2 ® D



3 ¥ 3
4. v 4

Question Number : 195 Question Id : 6672694772 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

Why can the “‘Quit Switch’ be overcome?
(1)  because it 1s a habit
2)  because it 1s lack of will power
(3) Dbecause it 1s lack of courage
(4)  Dbecause it is lack of motivation

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Sub-Section Number: 8
Sub-Section 1d: 667269481
Question Shuffling Allowed : Yes

Question Id : 6672694773 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)



Read the following and answer questions

From the very first day of my stay with him Gokhale made me feel
completely at home. He treated me as though I were his vounger brother. He
acquainted humself with all my requirements and arranged to see that T got all 1
needed. Fortunately my wants were few and as I had cultivated the habit of self —
help. I needed very little personal attendance. He was deeply unpressed with my
habit of tending for myself, my personal cleanliness. perseverance and regulanty,

and would often overwhelm me with praise.

He seemed to keep nothing private from me. He would mtroduce me to all
the unportant people that called on him. This 1s how he mtroduced Dr. Ray: “Tlas
is Prof, Ray who having a monthly salary of Rs. 800, keeps just Rs.40 for lnmself
and devotes the balance to public purposes. He is not. and does not want fo get

married.”

To see Gokhale at work was as much a joy as an education. He never wasted
a numite. His private relations and friendships were all for public good. India’s

poverty and subjection were matters of constant and intense concern to him.
Sub questions

Question Number : 196 Question Id : 6672694774 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 WrongMarks: 0

According to the passage. how old 1s the author?
(1) as old as Gokhale
(2)  older than Gokhale
(3)  younger than Gokhale
(4)  younger than Gokhale’s brother

Options:
1. %1
o %oz
3. ¥ 3
4 % 4



Question Number : 197 Question Id : 6672694775 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0

Why were the author’s requirements few?

(1) he was a clean man
(2)  he was self-reliant
(3) he was a public figure

(4)  he was a guest at Gokhale’s house
Options:
1. %1
22
3 % 3
4 # 4

Question Number : 198 Question Id : 6672694776 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O
How much did Dr. Ray spend every month for purpose?

(1) Rs. 800
(2) Rs.40

(3) Rs.760
(4) Rs.740

Note: For this question, discrepancy is found in question/answer. Full Marksis being awarded to all
candidates.

Options:

1.1

2.z
2.3
4. 4

Question Number : 199 Question Id ;: 6672694777 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0
What does the phrase “called on™ in the passage mean?

(1) phoned
(2) spoketo
(3) called him by name

(4)  wisited



Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 200 Question 1d : 6672694778 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: O

Identify the false statement about Gokhale.

(1)  He never wasted his time
(2) He was never concermed with India’s freedom
(3) He was deeply concemned with India’s poverty
(4) He worked for public good

Options:

1. %1

e g

3 % 3
4 % 4



